AVENTICS™  AVENTICS CCL-IS RFIFR AR S A&
fL (ISO 15552) EMERSON.



AVENTICS CCL-IS RFlItr &R SHET (ISO 15552) 2
2024-01-18

CCL-IS %5

L3R4 CCL-IS &% (ISO 15552) SEHBEERITZITATRERITULANIENA. SRXAMBNSAERBSEETE , MAEX
SEIRITER TEX, BEEEMN4EN BHMERRNLE,

ST AEENRREIERE

EHRAEEF (NSF-H1) BT B ALK
HINRBEERANRZEANIERFE
BMH25mm E 125 mm EERMAEERS

A LAk 5 MBS 3 B F
EEEEERSMNFESNESEREORD |, 18
T ERITREER SR RIEM.

BYHE
MP4
Joe
AA4 <a AB7
MP2 & >

e

L MR9
\ ‘C/,f /Q MR9
AP2 - >
\.

AP6

EMERSON.



AVENTICS CCL-IS RFlItr &R SHET (ISO 15552) 3
2024-01-18

ISO 15552 , %%l CCL-IS

ISO 15552
RS
TR
ERTARBTL
ATEX F ik
BB R
B

EEWRL

iz

SRS

PR
ERTARBTL
REAR

A % TR IR
ATEX F ik

S RMEEHE]  TEREMRY N FEIE3 iz 3h
HEED HEED

[N] [N]

25 25 G 1/8 HE TEETHHL M10x1,25 | ¥R By 260 309 R480671114
AFHER

25 50 G1/8 HE SEEWH M10x1,25 | #FRET LBy 260 309 R480671115
A FH|FR

25 80 G1/8 HE TEEW M10x1,25 | #FRET LBy 260 309 R480671116
AFH|EFR

25 100 G 1/8 HE TEEWH, M10x1,25 | #RE Tk fy 260 309 R480671117
AFHER

25 125 G1/8 e SEEWH M10x1,25 | ¥RAET LA 260 309 R480671118
ADFEER

25 160 G1/8 & EEE W M10x1,25 | #FRET By 260 309 R480671119
AFHER

25 200 G1/8 HE SEETHHL M10x1,25 | #RtE Tl By 260 309 R480671120
AFHER

25 250 G1/8 e SEEWH M10x1,25 | #FRET By 260 309 R480671121
AFEER

25 320 G1/8 e SEEWH M10x1,25 | #FRET LBy 260 309 R480671122
AFH|EFR

25 400 G1/8 & TR M10x1,25 | #RET By 260 309 R480671123
AFH|ER

25 500 G 1/8 HE TEETHHL M10x1,25 | #rAET LBy 260 309 R480671124
AFHER

32 25 G1/8 HE SEEWH M10x1,25 | #riE Tk By 435 507 R480060005
A FH|FR

32 50 G1/8 HE TEEW M10x1,25 | #FRET LBy 435 507 R480058830
AFH|EFR

32 80 G1/8 HE TEEWH, M10x1,25 | #RET b fy 435 507 R480060006
AFHER

32 100 G1/8 e SEEWH M10x1,25 | ¥RAET LA 435 507 R480059075
AFEER

32 125 G1/8 & EEE W M10x1,25 | #RET By 435 507 R480060007
AFHER

EMERSON.



AVENTICS CCL-IS RFlItr &R SHET (ISO 15552) 4
2024-01-18

o HEEHE]  TREMRG PN R EE 3 fH iz 3h
HEED HEED

[N] [N]

32 160 G1/8 HE TEEWH M10x1,25 | #RET b fy 435 507 R480060008
AFH|ER

32 200 G1/8 & SEEWH M10x1,25 | ¥RAET AR 435 507 R480060009
ADEER

32 250 G 1/8 & SEEWH M10x1,25 | #RET LBy 435 507 R480060010
AFH|ER

32 320 G 1/8 HE TEETHH M10x1,25 | #RfET b fy 435 507 R480060011
AFH|ER

32 400 G1/8 e SEEWH M10x1,25 | #RAET LA 435 507 R480060012
AFEER

32 500 G1/8 & EEE W M10x1,25 | #FRET By 435 507 R480060013
A FH|ER

40 25 G 1/4 HE TEEWH M12x1,25 | #FRET LBy 665 792 R480060018
AFH|ER

40 50 G 1/4 HE EE M12x1,25 | ¥R By 665 792 R480059528
AEER

40 80 G1/4 HE SEEWH M12x1,25 | #riET kB 665 792 R480060019
AFH|ER

40 100 G 1/4 & TEEWH M12x1,25 | #FRET LBy 665 792 R480060020
AFH|ER

40 125 G 1/4 HE TEEWH M12x1,25 | #FRET b fy 665 792 R480060021
AFH|ER

40 160 G 1/4 HEE SEEWH M12x1,25 | #riET kB 665 792 R480059526
ADEER

40 200 G 1/4 & SEEW M12x1,25 | #FRET LBy 665 792 R480060022
AFH|ER

40 250 G 1/4 HE TEETHH M12x1,25 | #FRET b fy 665 792 R480060023
AFH|ER

40 320 G 1/4 RE SEEWH M12x1,25 | #rAETAL By 665 792 R480060024
AFEER

40 400 G 1/4 & EEE W M12x1,25 | #FRET B 665 792 R480059529
AFHER

40 500 G 1/4 & TEEWH M12x1,25 | #FRET LBy 665 792 R480060025
AFH|ER

50 25 G 1/4 HE TEETH M16x1,5 | FRETALBS 1039 1237 R480060026
AEER

50 50 G 1/4 & SEEWH M16x1,5 | FRET RS 1039 1237 R480060027
A FH|ER

50 80 G 1/4 & TEEWH M16x1,5 | FRAETALRS 1039 1237 R480060028
AFH|ER

50 100 G 1/4 HE TEEWH, M16x1,5 | FrRETALBS 1039 1237 R480060029
AFH|ER

50 125 G 1/4 HEE SEEWH M16x1,5| FRAET RS 1039 1237 R480060030
ADFEER

50 160 G 1/4 & SEEWH M16x1,5 | FRAETALRS 1039 1237 R480060031
AFH|ER

50 200 G 1/4 HE TEETHH M16x1,5 | FrRETALBA 1039 1237 R480060032
AFH|ER

50 250 G 1/4 RE SEEWH M16x1,5| FRAET RS 1039 1237 R480060033
AFEER

EMERSON.



AVENTICS CCL-IS RFlItr &R SHET (ISO 15552) S
2024-01-18

o HEEHE]  TREMRG PN R EE 3 fH iz 3h
HEED HEED

[N] [N]

50 320 G 1/4 HE TEEWH M16x1,5 | FrRET RS 1039 1237 R480060034
AFH|ER

50 400 G 1/4 HE SEEWH M16x1,5| FRAET RS 1039 1237 R480058941
ADEER

50 500 G 1/4 & SEEWH M16x1,5 | FRAETALRS 1039 1237 R480060035
AFH|ER

63 25 G 3/8 HE TEETHH M16x1,5 | FrRET RS 1766 1964 R480060036
AFH|ER

63 50 G 3/8 e SEEWH M16x1,5| FRAET RS 1766 1964 R480058890
AFEER

63 80 G 3/8 & EEE W M16x1,5 | FRAETALRS 1766 1964 R480060037
A FH|ER

63 100 G 3/8 HE TEEWH M16x1,5 | #RAETALRS 1766 1964 R480060038
AFH|ER

63 125 G 3/8 HE EE M16x1,5 | FRETALBS 1766 1964 R480060039
AEER

63 160 G 3/8 & SEEWH M16x1,5 | FRfETALBA 1766 1964 R480060040
AFH|ER

63 200 G 3/8 & TEEWH M16x1,5 | FRAETALRS 1766 1964 R480060041
AFH|ER

63 250 G 3/8 HE TEEWH M16x1,5 | FrRETALBS 1766 1964 R480060043
AFH|ER

63 320 G 3/8 e SEEWH M16x1,5| FRAET RS 1766 1964 R480060042
ADEER

63 400 G 3/8 & SEEW M16x1,5 | FRAETALRS 1766 1964 R480060044
AFH|ER

63 500 G 3/8 HE TEETHH M16x1,5 | FrRETALBA 1766 1964 R480060045
AFH|ER

80 25 G 3/8 e SEEWH M20x1,5| #RAET RS 2857 3167 R480060060
AFEER

80 50 G 3/8 & EEE W M20x1,5 | FRAETALRS 2857 3167 R480060061
AFHER

80 80 G 3/8 & TEEWH M20x1,5 | #RAETALRS 2857 3167 R480060063
AFH|ER

80 100 G 3/8 HE TEETH M20x1,5 | FRETALBS 2857 3167 R480060064
AEER

80 125 G 3/8 & SEEWH M20x1,5 | #RfETALBA 2857 3167 R480059699
A FH|ER

80 160 G 3/8 & TEEWH M20x1,5 | #RAETALRS 2857 3167 R480060065
AFH|ER

80 200 G 3/8 HE TEETHH M20x1,5 | FRET RS 2857 3167 R480059532
AFH|ER

80 250 G 3/8 e SEEWH M20x1,5| #RAET RS 2857 3167 R480060066
ADFEER

80 320 G 3/8 & SEEWH M20x1,5 | #RAETALRS 2857 3167 R480060067
AFH|ER

80 400 G 3/8 HE TEETHH M20x1,5 | FRETALBA 2857 3167 R480060068
AFH|ER

80 500 G 3/8 e SEEWH M20x1,5| #RAET RS 2857 3167 R480060069
AFEER

EMERSON.



AVENTICS CCL-IS RFlItr &R SHET (ISO 15552) 6
2024-01-18

o HEEHE]  TREMRG PN R EE 3 fH iz 3h
HEED HEED

[N] [N]

100 25 G1/2 HE TEEWH M20x1,5 | FRET RS 4639 4948 R480060070
AFH|ER

100 50 G112 HE SEEWH M20x1,5| #RAET RS 4639 4948 R480060071
ADEER

100 80 G1/2 & SEEWH M20x1,5 | #RAETALRS 4639 4948 R480060072
AFH|ER

100 100 G1/2 HE TEETHH M20x1,5 | FrETALBA 4639 4948 R480060073
AFH|ER

100 125 G1/2 HE SEEWH M20x1,5| #RAET RS 4639 4948 R480060074
AFEER

100 160 G1/2 & EEE W M20x1,5 | #RAET RS 4639 4948 R480060075
A FH|ER

100 200 G1/2 HE TEEWH M20x1,5 | #RAETALRS 4639 4948 R480060076
AFH|ER

100 250 G1/2 HE EE M20x1,5 | FRAETALBS 4639 4948 R480058909
AEER

100 320 G1/2 HE SEEWH M20x1,5 | #RfETALBA 4639 4948 R480060077
AFH|ER

100 400 G1/2 & TEEWH M20x1,5 | #RAETALRS 4639 4948 R480060078
AFH|ER

100 500 G1/2 HE TEEWH M20x1,5 | FRET RS 4639 4948 R480060079
AFH|ER

125 25 G1/2 HEE SEEWH M27x2 | FRETALBS 7224 7731 R480060080
ADEER

125 50 G1/2 & SEEW M27x2 | FRET LB 7224 7731 R480060081
AFH|ER

125 80 G1/2 HE TEETHH M27x2 | FRETALBA 7224 7731 R480060082
AFH|ER

125 100 G1/2 RE SEEWH M27x2 | FRETALBS 7224 7731 R480060083
AFEER

125 125 G1/2 & EEE W M27x2 | FRET B 7224 7731 R480060084
AFHER

125 160 G1/2 & TEEWH M27x2 | FRETALBS 7224 7731 R480060085
AFH|ER

125 200 G1/2 HE TEETH M27x2 | FRETALBS 7224 7731 R480060086
AEER

125 250 G1/2 HE SEEWH M27x2 | FRfETALBA 7224 7731 R480060087
A FH|ER

125 320 G1/2 & TEEWH M27x2 | FRET LB 7224 7731 R480140649
AFH|ER

125 400 G1/2 HE TEETHH M27x2 | FRETALBA 7224 7731 R480060089
AFH|ER

125 500 G112 HEE SEEWH M27x2 | FRETALBS 7224 7731 R480060091
ADFEER

EMERSON.



AVENTICS CCL-IS RFIFr &R SHE (1ISO 15552) 7
2024-01-18

Wi
225 -63
ZJ+S
L8+S
L2
E
BG BG
A L3
l——— =
[
(] <
m A Ll r I D A
Q % Q
v
>< e £
VD VA
WH
G G
sw PL EE LA
KW
m
B -
EH | ;€§ \@\‘
@ 9
= 1 k o
g —
1 *
LA PL )
280 - 125
2J+S
L8+S E
L2 VA
A VD
<
m B 1 1 o
Q Q
g B ZZZR
* =ca
==Y N N2
WH
BG BG
G G
PL EE LA
L sw o
-
[ n
=
i B ©
H @}\\\\\\\\‘ i§¥m
ay
LA PL
S=171&

* TRIRET (1) EEEIREE PSRN SEHREE - 8L P

EMERSON.



AVENTICS CCL-IS RFItr AR SHE (1SO 15552)

8
2024-01-18

EE-0 A @B/ @BA d11 B1 BG mm E EE G H KK KV
25 22 24 3.8 12.5 40.5 G1/8 20 3.1 M10x1,25 16
32 22 30 3.8 16 49.5 G1/8 27.75 3.1 M10x1,25 16
40 24 35 3.8 16 57.5 G1/4 33.25 3.1 M12x1,25 18
50 32 40 3.8 16 69.5 G1/4 31 3.1 M16x1,5 24
63 32 45 3.8 16 79.5 G3/8 38,25 3.1 M16x1,5 24
80 40 45 3.8 17 98 G3/8 38,25 3.1 M20x1,5 30
100 40 55 3.8 17 115,5 G172 42,25 3.1 M20x1,5 30
125 54 60 3.8 20 145 G1/2 54 3.1 M27x2 41

25 5 16 5 74 0,4 13.5 6 12 4.5 10.3 M5

32 5 16 5 94 £0,4 20.75 7 12 4 15.75 M6

40 6 18.25 5 105 0,7 22.75 8 16 5 16.75 M6

50 8 25 5 106 0,7 20 12 20 7,7 16 M8

63 8 25 5 121 40,8 27,25 11 20 11 19,25 M8

80 10 33 - 128 +0,8 20,25 15 25 12 16,75 M10

100 10 36 - 138 1 24,25 14 25 17 19,25 M10

125 13,5 45 - 160 1 25,5 4 32 27,5 20 M12
EE-0 SwW TG VA VD WH VA

25 10 26 £0,4 - - 24 +1,4 98

32 10 32,5+0,5 4 4 26 +1,4 120

40 13 38 0,5 4 5 30 1,4 135

50 17 46,5 £0,6 4 5 37 £1,4 143

63 17 56,5 +0,7 4 5 37 £1,8 158

80 22 72 0,7 4 5 46 1,8 174

100 22 89 0,7 4 5 5118 189

125 27 110 1,1 6 6 65 12,2 225

Q

EMERSON.



AVENTICS CCL-IS RFItr AR SHE (1SO 15552)

9
2024-01-18

ISO 15552 , %%l CCL-IS

ISO 15552
RS
TR
ERTARBTL
ATEX F ik
BB R
MM
EEWRL

iz

SRS

PR
ERTARBTL
REAR

A % TR IR
ATEX F ik

=

WM ET TEETIRY B FEIES)
HEEN
[N]

32 25 G 1/8 ity SEE W M10x1,25 | ¥Rt Toll B 435 R480193041
B

32 50 G 1/8 -y SEEWH M10x1,25 | #rfE Toll B 435 R480164229
B

32 80 G1/8 at) SHEWR M10x1,25 | #RiE Toll B 435 R480189168
R

32 100 G1/8 aty SEEWH M10x1,25 | ¥R Toll B 435 R480181243
ClE2N

32 125 G 1/8 | SEEWH M10x1,25 | #RfE Toll B 435 R480193155
B

32 160 G1/8 it TEEWH M10x1,25 | #rAE b 435 R480156543
EIE2

32 200 G1/8 aty SEEWH M10x1,25 | ¥RAETAbBA 435 R480193156
ClE2N

32 250 G1/8 ity SEEWH M10x1,25 | #RfE Toll B 435 R480185615
B

32 320 G 1/8 at SEEWH M10x1,25 | #RfE Toll B 435 R480193157
B

32 400 G1/8 aty SREWR M10x1,25 | ¥R Tl Bhz 435 R480193158
B

32 500 G1/8 k= SEE T M10x1,25 | #RfE Toll B 435 R480193159
B

40 25 G 1/4 -y SEEWH M12x1,25 | #RfEToll B 665 R480193160
B

40 50 G 1/4 at) SHEWR M12x1,25 | FREToll B 665 R480191357
R

40 80 G 1/4 | SEEWH M12x1,25 | #RfE Tl B 665 R480193161
ClE2N

40 100 G 1/4 | SEEWH M12x1,25 | #RfEToll B 665 R480193162
B

40 125 G 1/4 at) TEEWH M12x1,25 | #rAE b4 665 R480193163
EIE2

EMERSON.



AVENTICS CCL-IS RFlItr &R SHET (ISO 15552) 10
2024-01-18

M B €T TEEMTIRY i)

40 160 G 1/4 ity SHEWR M12x1,25 | FRE Tl B 665 R480193164
R

40 200 G 1/4 | SEE W M12x1,25 | ¥R Tl B 665 R480193165
ElE2N

40 250 G 1/4 -y SEEWH M12x1,25 | #RfEToll B 665 R480190116
B

40 320 G 1/4 at) SEEWH M12x1,25 | FREToll B 665 R480193166
EIE2

40 400 G 1/4 | SEEWH M12x1,25 | FRfE Tl B 665 R480193167
ElE2N

40 500 G 1/4 aty| SEEWH M12x1,25 | #RfE Toll B 665 R480193168
B

50 25 G 1/4 at TEEWH M16x1,5 | #rfE Toll B 1039 R480140572
EIE2N

50 50 G 1/4 aty EET L M16x1,5 | FRfE Tl B 1039 R480178656
ClE2N

50 80 G 1/4 aty SEE T M16x1,5 | #rfE Toll B 1039 R480193169
B

50 100 G 1/4 aty SEEWH M16x1,5 | #rfE Toll B 1039 R480178406
B

50 125 G 1/4 at-) SHEWR M16x1,5 | #RiEToll B 1039 R480140573
R

50 160 G 1/4 aty SEE W M16x1,5 | #RfE Tl B 1039 R480193170
B

50 200 G 1/4 aty SEEWH M16x1,5 | #rfE Toll B 1039 R480193171
B

50 250 G 1/4 at) SEEWH M16x1,5 | #RiE Toll B 1039 R480193172
EIE2

50 320 G 1/4 aty SEEWH M16x1,5 | #RfE Tl B 1039 R480193173
ElE2N

50 400 G 1/4 aty| SEEWH M16x1,5 | #rfE Toll B 1039 R480193174
B

50 500 G 1/4 at TEEWH M16x1,5 | #ritE Toll B 1039 R480193175
B

63 25 G 3/8 aty SEET L M16x1,5 | FRfE Tl B 1766 R480161345
ClE2N

63 50 G 3/8 k= SEE T M16x1,5 | #rfE Toll B 1766 R480192685
B

63 80 G 3/8 -y SEEWH M16x1,5 | #RfE Toll B 1766 R480140270
B

63 100 G 3/8 aty SHEWR M16x1,5 | #RiEToll B 1766 R480193176
R

63 125 G 3/8 aty SEE W M16x1,5 | #RfE Tl B 1766 R480068035
B

63 160 G 3/8 -y SEEWH M16x1,5 | #rfE Toll B 1766 R480193177
B

63 200 G 3/8 at) SEEWH M16x1,5 | #RiE Toll B 1766 R480153420
EIE2

63 250 G 3/8 aty SEEWH M16x1,5 | #RfE Tl B 1766 R480193178
ElE2N

EMERSON.



AVENTICS CCL-IS RFlItr &R SHET (ISO 15552) 11
2024-01-18

M B €T TEEMTIRY i)

63 320 G 3/8 ity SHEWR M16x1,5 | #RiEToll B 1766 R480193179
R

63 400 G 3/8 aty SEE W M16x1,5 | #RfE Tl B 1766 R480193180
ElE2N

63 500 G 3/8 -y SEEWH M16x1,5 | #rfE Toll B 1766 R480193181
B

80 25 G 3/8 at) SEEWH M20x1,5 | #RiE Tl B 2857 R480193182
EIE2

80 50 G 3/8 aty SEEWH M20x1,5 | #RfE Tl B 2857 R480190899
ElE2N

80 80 G 3/8 K3 SEEWH M20x1,5 | #RfE Toll B 2857 R480193183
B

80 100 G 3/8 at TEEWH M20x1,5 | #RfEToll B 2857 R480140266
EIE2N

80 125 G 3/8 aty EET L M20x1,5 | #RfE Tl B 2857 R480178891
ClE2N

80 160 G 3/8 aty SEE T M20x1,5 | #rfE Toll B 2857 R480183597
B

80 200 G 3/8 aty SEEWH M20x1,5 | #RfEToll B 2857 R480193184
B

80 250 G 3/8 at-) SHEWR M20x1,5 | #RiEToll B 2857 R480174928
R

80 320 G 3/8 aty SEE W M20x1,5 | #RfE Tl B 2857 R480193185
B

80 400 G 3/8 aty SEEWH M20x1,5 | #rfE Toll B 2857 R480189967
B

80 500 G 3/8 at) SEEWH M20x1,5 | #RiE Tl B 2857 R480193186
EIE2

100 25 G1/2 | SEEWH M20x1,5 | #RfE Tl B 4639 R480193187
ElE2N

100 50 G172 aty| SEEWH M20x1,5 | #rfE Toll B 4639 R480193188
B

100 80 G1/2 at TEEWH M20x1,5 | #RtEToll B 4639 R480193189
B

100 100 G1/2 aty SEET L M20x1,5 | #RfE Tl B 4639 R480173536
ClE2N

100 125 G1/2 aty| SEE T M20x1,5 | #rfE Toll B 4639 R480193190
B

100 160 G1/2 -y SEEWH M20x1,5 | #RfE Toll B 4639 R480193191
B

100 200 G1/2 aty SHEWR M20x1,5 | #RiEToll B 4639 R480193192
R

100 250 G1/2 at| SEE W M20x1,5 | #RfE Tl B 4639 R480179848
B

100 320 G1/2 -y SEEWH M20x1,5 | #rfEToll B 4639 R480193193
B

100 400 G1/2 at) SEEWH M20x1,5 | #RiE Tl B 4639 R480193194
EIE2

100 500 G172 | SEEWH M20x1,5 | #RfE Tl B 4639 R480193195
ElE2N

EMERSON.



AVENTICS CCL-IS RFlItr &R SHET (ISO 15552) 12
2024-01-18

M B €T TEEMTIRY [ ENES

125 25 G1/2 ity SHEWR M27x2 | ¥Rl 7224 R480193196
R

125 50 G1/2 | SEE W M27x2 | FRfE Tl Bh 7224 R480193200
ElE2N

125 80 G1/2 -y SEEWH M27x2 | ¥R LB 7224 R480193201
B

125 100 G1/2 at) TEEWH M27x2 | FRET LBy 7224 R480193202
EIE2

125 125 G1/2 | SEEWH M27x2 | ¥R Tl B 7224 R480178609
ElE2N

125 160 G1/2 aty| SEEWH M27x2 | ¥R LB 7224 R480193203
B

125 200 G1/2 at TEEWH M27x2 | ¥R T LB 7224 R480193204
EIE2N

125 250 G1/2 aty SEEWH M27x2 | ¥RET LB 7224 R480193205
ClE2N

125 320 G1/2 aty| SEEWH M27x2 | ¥R kB 7224 R480193206
B

125 400 G1/2 it SEEWH M27x2 | ¥R TAbBsL 7224 R480193207
B

125 500 G1/2 at-) SHEWR M27x2 | FRET LB 7224 R480193208
R

EMERSON.



AVENTICS CCL-IS RFIFr &R SHE (1ISO 15552)

13
2024-01-18

A&
©32-63 2vs
L8+S
L2
BG BG
A L3 VD A
o
o -
m
{ - ﬁﬁﬂg I | R N 11 ——H H
§ — p— —
s =
VD 13
WH
ZM+2xS
G G
SW Jﬂ_— EE st
KW
| o
tHIE |€§ ’’’’’’’’’’’ % ’”*:w
= @ N
= — |
S (1"
LA PL
280 - 125
ZJ+S
L8+S
L2
LA LA
A VD VD A
o
m | - | 1 N O N R B
&L
5 o
>4 s =
WH
BG BG
ZM+2xS
G G
PL EE LA
KW SW @
-
& <
z |
s | —a Al
@«\ ©
ay
LA PL

S=111&

* R (1) ERBAREEPRNHSEFREE -8

EMERSON.



AVENTICS CCL-IS RFItr AR SHE (1SO 15552)

14
2024-01-18

EE-O A @B/ @BA d11 B1 BG &/ E EE G H KK KV
32 22 30 3.8 16 49.5 G1/8 27.75 3.1 M10x1,25 16
40 24 35 3.8 16 57.5 G1/4 33.25 3.1 M12x1,25 18
50 32 40 3.8 16 69.5 G1/4 31 3.1 M16x1,5 24
63 32 45 3.8 16 79.5 G3/8 38.25 3.1 M16x1,5 24
80 40 45 3.8 17 98 G3/8 38.25 3.1 M20x1,5 30
100 40 55 3.8 17 115.5 G1/2 42.25 3.1 M20x1,5 30
125 54 60 3.8 20 145 G172 54 3.1 M27x2 4

EE-0 KW L2 L3 & L8 LA LB MM f8 P PL RT
32 5 16 5 94 +0,4 20.75 7 12 4 15.75 M6
40 6 18.25 5 105 0,7 22.75 8 16 5 16.75 M6
50 8 25 5 106 +0,7 20 12 20 7.7 16 M8
63 8 25 5 121 £0,8 27.25 1" 20 1" 19.25 M8
80 10 33 - 128 +0,8 20.25 15 25 12 16.75 M10
100 10 36 - 138 +1 24.25 14 25 17 19.25 M10
125 13.5 45 - 160 +1 255 4 32 27.5 20 M12

EE-0 S TG VA VD WH ZJ M
32 10 32,5 0,5 4 4 26 +1,4 120 146
40 13 38 0,5 4 5 30 1,4 135 165
50 17 46,5 +0,6 4 5 37 £1,4 143 180
63 17 56,5 +0,7 4 5 37 £1,8 158 195
80 22 72 0,7 4 5 46 £1,8 174 220
100 22 89 0,7 4 5 5118 189 240
125 27 110 1,1 6 6 65 +2,2 225 290

EMERSON.



AVENTICS CCL-IS RFlItr &R SHET (ISO 15552) 15
2024-01-18

ISO 15552 , %%l CCL-IS

ISO 15552
RS

Tl FRAE
ERTARBTL
BB R
FizstE T
B

EEWRL

iz

SRS

PR
ERTARBTL
REAR

S RMEEHE]  TEREMRY N FEIE 3 iz 3h
HEED HEED

[N] [N]
32 25 G 1/8 HE TEETHHL M10x1,25 | F&E#&E T 435 507 R481609634
32 50 G1/8 HE SEEWH M10x1,25 | FZ#HETD 435 507 R481609635
32 80 G1/8 HE TEEWH M10x1,25 | Fiz#&E T 435 507 R481609636
32 100 G 1/8 HE L M10x1,25 | FE#HE T 435 507 R481609637
32 125 G1/8 e SEEWH M10x1,25 | FE#E T 435 507 R481609638
32 160 G1/8 & EEE W M10x1,25 | Fz#E T 435 507 R481609639
32 200 G1/8 HE SEETHHL M10x1,25 | FE#HE T 435 507 R481609640
32 250 G1/8 e SEEWH M10x1,25 | FE#EITD 435 507 R481609641
32 320 G1/8 e SEEWH M10x1,25 | Fiz#E D 435 507 R481609642
32 400 G1/8 & TR M10x1,25 | FE&E T 435 507 R481609643
32 500 G1/8 HE TEETHL M10x1,25 | F&E#H&ET 435 507 R481609644
40 25 G 1/4 HE SEEWH M12x1,25 | FE#HE D 665 792 R481609645
40 50 G 1/4 HE TEEWH M12x1,25 | Fz#E T 665 792 R481609646
40 80 G 1/4 HE TEETHH M12x1,25 | FE#HE T 665 792 R481609647
40 100 G 1/4 HE SEEWH M12x1,25 | FE#HETD 665 792 R481609648
40 125 G 1/4 & EEE W M12x1,25 | Fiz#E T 665 792 R481609649
40 160 G 1/4 HE SEETHHL M12x1,25 | FE#HE T 665 792 R481609650
40 200 G 1/4 e SEEWH M12x1,25 | FE#EITD 665 792 R481609651
40 250 G 1/4 & SEEWH M12x1,25 | Fiz#E T 665 792 R481609652
40 320 G 1/4 & TR M12x1,25 | FE#E T 665 792 R481609653
40 400 G 1/4 HE TEETHL M12x1,25 | F&E#HET 665 792 R481609654
40 500 G1/4 HE SEEWH M12x1,25 | FE#HE D 665 792 R481609655
50 25 G 1/4 HE TEEWH M16x1,5| Fiz¥kE T 1039 1237 R481609656
50 50 G 1/4 HE TEETHH M16x1,5| Fiz&E T 1039 1237 R481609657
50 80 G 1/4 & SEEWH M16x1,5| FizE T 1039 1237 R481609658
50 100 G 1/4 & EEE W M16x1,5| Fiz¥E T 1039 1237 R481609659
50 125 G 1/4 HE SEETHHL M16x1,5 | Fiz&E T 1039 1237 R481609660

EMERSON.



AVENTICS CCL-IS RFI+rERSHE (ISO 15552) 16
2024-01-18

S RAMEREET  TRETRY PN R EE 3 fH iz 3h
HEED HEED

[N] [N]
50 160 G 1/4 HE L M16x1,5 | Fiz&E T 1039 1237 R481609661
50 200 G 1/4 HEE SEEWH M16x1,5| Fiz#E T 1039 1237 R481609662
50 250 G 1/4 & TEEW M16x1,5| Fiz¥kE T 1039 1237 R481609663
50 320 G 1/4 HE TEETHH M16x1,5| Fiz&E T 1039 1237 R481609664
50 400 G 1/4 RE SEEWH M16x1,5| FiEEIT 1039 1237 R481609665
50 500 G 1/4 & EEE W M16x1,5| Fiz¥kE T 1039 1237 R481609666
63 25 G 3/8 & SEETWH M16x1,5| Fiz&E T 1766 1964 R481609667
63 50 G 3/8 HE TEETHL M16x1,5| FizE T 1766 1964 R481609668
63 80 G 3/8 & SEEWH M16x1,5| Fiz%E T 1766 1964 R481609669
63 100 G 3/8 & TEEWH M16x1,5| Fiz¥&E T 1766 1964 R481609670
63 125 G 3/8 HE TEETHH M16x1,5| Fiz¥&E T 1766 1964 R481609671
63 160 G 3/8 e SEEWH M16x1,5| Fiz#E T 1766 1964 R481609672
63 200 G 3/8 & TEEW M16x1,5| Fiz¥kE T 1766 1964 R481609673
63 250 G 3/8 HE TEETHH M16x1,5| Fiz&E T 1766 1964 R481609674
63 320 G 3/8 e SEEWH M16x1,5| FiEHEIT 1766 1964 R481609675
63 400 G 3/8 & EEE W M16x1,5| Fiz¥E T 1766 1964 R481609676
63 500 G 3/8 & SEETWH M16x1,5| Fiz¥&E T 1766 1964 R481609677
80 25 G 3/8 HE TEETH M20x1,5 | Fiz#E T 2857 3167 R481609678
80 50 G 3/8 & SEEWH M20x1,5 | Fiz%E T 2857 3167 R481609679
80 80 G 3/8 & TEEWH M20x1,5 | Fiz¥&E T 2857 3167 R481609680
80 100 G 3/8 HE TEETHH M20x1,5 | Fiz¥&E| T 2857 3167 R481609681
80 125 G 3/8 e SEEWH M20x1,5 | Fiz#E T 2857 3167 R481609682
80 160 G 3/8 & SEEWH M20x1,5 | Fiz#&E T 2857 3167 R481609683
80 200 G 3/8 HE TEETHHL M20x1,5 | Fiz¥&E| T 2857 3167 R481609684
80 250 G 3/8 e SEEWH M20x1,5| FiEEEIT 2857 3167 R481609685
80 320 G 3/8 & EEE W M20x1,5| FiE¥aET 2857 3167 R481609686
80 400 G 3/8 & SEETWHL M20x1,5 | Fiz¥&E T 2857 3167 R481609687
80 500 G 3/8 HE TEETHL M20x1,5 | Fiz#E T 2857 3167 R481609688
100 25 G1/2 HhE SEEWH M20x1,5 | Fiz%E T 4639 4948 R481609689
100 50 G1/2 & TEEWH M20x1,5 | Fiz¥&E T 4639 4948 R481609690
100 80 G1/2 HE TEETHH M20x1,5 | Fiz%&E| T 4639 4948 R481609691
100 100 G1/2 HEE SEEWH M20x1,5 | Fiz#E T 4639 4948 R481609692
100 125 G1/2 & SEEWH M20x1,5 | Fiz%k&E T 4639 4948 R481609693
100 160 G1/2 HE TEETHH M20x1,5 | Fiz¥&E T 4639 4948 R481609694
100 200 G1/2 RE SEEWH M20x1,5| FiEEIT 4639 4948 R481609695
100 250 G1/2 & EEE W M20x1,5| Fia¥aET 4639 4948 R481609696
100 320 G1/2 & SEETWH M20x1,5 | Fiz¥&E T 4639 4948 R481609697
100 400 G1/2 HE L M20x1,5 | Fiz#El T 4639 4948 R481609698
100 500 G172 HhE SEEWH M20x1,5 | Fiz%E T 4639 4948 R481609699
125 25 G1/2 & TEEWH M27x2 | FE#E T 7224 7731 R481609700
125 50 G1/2 HE L M27x2 | FEET 7224 7731 R481609701

4

&

EMERSON.



AVENTICS CCL-IS RFlItr &R SHET (ISO 15552) 17
2024-01-18

o HEEHE]  TREMRG PN R EE 3 fH iz 3h
HEED HEED

[N] [N]
125 80 G1/2 HE L M27x2 | FEET 7224 7731 R481609702
125 100 G1/2 HEE SEEWH M27x2 | FiE#EITD 7224 7731 R481609703
125 125 G1/2 & SEEWH M27x2 | Fiz#E T 7224 7731 R481609704
125 160 G1/2 HE TEETHH M27x2 | FE#E T 7224 7731 R481609705
125 200 G1/2 RE SEEWH M27x2 | FEHEIT 7224 7731 R481609706
125 250 G1/2 & EEE W M27x2 | Fiz#E T 7224 7731 R481609707
125 320 G1/2 HE SEEWH M27x2 | FE#E| T 7224 7731 R481609708
125 400 G1/2 HE SEEWH M27x2 | FiEEITD 7224 7731 R481609709
125 500 G1/2 E SEEWH M27x2 | Fiz#EITD 7224 7731 R481609710

EMERSON.



AVENTICS CCL-IS RFIFr &R SHE (1ISO 15552) 18
2024-01-18

M
232-63
ZJ+S
L8+S
L2
E
BG BG -
A L3.|,
- B1
N//Eh d—‘uiui‘a
™ “7 7777 } ;
<
o e [ DR 1 A s o
° % S RT% O)fq °Qu
v - N P
4 ] —_— —@
2 4
VD VA
WH
G G
sw < EE LA
KW
m
M -
E | 65’/ ,,,,,,,,, f\@
@ LS,
= N o
g —
1y
LA PL I
280 - 125
ZJ+8
L8+S E
L2 VA
A VD

9B
-28
I
|
|
|
|
—
¥
@BA

N
< =izt iz
EPr N s
WH
BG BG
G G
PL EE LA
KW sw @
o |
& Q

(O

LA PL

5= R
TR (1) EEE TR BT A REA — NI

EMERSON.



AVENTICS CCL-IS RFItr AR SHE (1SO 15552)

19
2024-01-18

EE-0 A @B/ @BA d11 B1 BG mm E EE G H KK KV
32 22 30 3.8 16 49.5 G1/8 27.75 3.1 M10x1,25 16
40 24 35 3.8 16 57.5 G1/4 33.25 3.1 M12x1,25 18
50 32 40 3.8 16 69.5 G1/4 31 3.1 M16x1,5 24
63 32 45 3.8 16 79.5 G3/8 38,25 3.1 M16x1,5 24
80 40 45 3.8 17 98 G3/8 38,25 3.1 M20x1,5 30
100 40 55 3.8 17 115,5 G1/2 42,25 3.1 M20x1,5 30
125 54 60 3.8 20 145 G172 54 3.1 M27x2 4

EE-0 KW L2 L3 & L8 LA LB MM f8 P PL RT
32 5 16 5 94 +0,4 20.75 7 12 4 15.75 M6
40 6 18.25 5 105 0,7 22.75 8 16 5 16.75 M6
50 8 25 5 106 +0,7 20 12 20 7,7 16 M8
63 8 25 5 121 £0,8 27,25 1" 20 1" 19,25 M8
80 10 33 - 128 +0,8 20,25 15 25 12 16,75 M10
100 10 36 - 138 +1 24,25 14 25 17 19,25 M10
125 13,5 45 - 160 +1 25,5 4 32 27,5 20 M12

EE-0 S TG VA VD WH ZJ
32 10 32,5 0,5 4 4 26 +1,4 120
40 13 38 0,5 4 5 30 1,4 135
50 17 46,5 +0,6 4 5 37 £1,4 143
63 17 56,5 +0,7 4 5 37 £1,8 158
80 22 72 0,7 4 5 46 £1,8 174
100 22 89 0,7 4 5 5118 189
125 27 110 1,1 6 6 65 +2,2 225

EMERSON.



AVENTICS CCL-IS RFlItr &R SHET (ISO 15552) 20
2024-01-18

CCL-IS

ISO 15552
RS

Tl FRAE
ERTARBTL
BB R
EBE T

B

EEWRL

iz

SRS

PR
ERTARBTL
REAR

S RMEEHE]  TEREMRY B FEIE 3 iz 3h
HEED HEED

[N] [N]
32 25 G 1/8 HE TEETHHL M10x1,25 EBRT 435 507 R481609711
32 50 G1/8 HE SEEWH M10x1,25 BRI 435 507 R481609712
32 80 G1/8 HE TEEWH M10x1,25 EBRT 435 507 R481609713
32 100 G 1/8 HE L M10x1,25 HEB BT 435 507 R481609714
32 125 G1/8 e SEEWH M10x1,25 EB BT 435 507 R481609715
32 160 G1/8 & EEE W M10x1,25 BRI 435 507 R481609716
32 250 G1/8 HE SEETHHL M10x1,25 HEBRT 435 507 R481609718
32 320 G1/8 e SEEWH M10x1,25 BB 435 507 R481609719
32 400 G1/8 e SEEWH M10x1,25 EBRT 435 507 R481609720
32 500 G1/8 & TR M10x1,25 EBRT 435 507 R481609721
40 25 G 1/4 HE TEETHL M12x1,25 EBRT 665 792 R481609722
40 50 G 1/4 HE SEEWH M12x1,25 EB BT 665 792 R481609723
40 80 G 1/4 HE TEEWH M12x1,25 HEBRT 665 792 R481609724
40 100 G 1/4 HE TEETHH M12x1,25 HEB BT 665 792 R481609725
40 125 G 1/4 HE SEEWH M12x1,25 EB BT 665 792 R481609726
40 160 G 1/4 & EEE W M12x1,25 BRI 665 792 R481609727
40 200 G 1/4 HE SEETHHL M12x1,25 HEBRT 665 792 R481609728
40 250 G 1/4 e SEEWH M12x1,25 BB 665 792 R481609729
40 320 G 1/4 & SEEWH M12x1,25 HEB BT 665 792 R481609730
40 400 G 1/4 & TR M12x1,25 EBRT 665 792 R481609731
40 500 G 1/4 HE TEETHL M12x1,25 EBRT 665 792 R481609732
50 25 G 1/4 HE SEEWH M16x1,5 BRI 1039 1237 R481609733
50 50 G 1/4 HE TEEWH M16x1,5 HEBRT 1039 1237 R481609734
50 80 G 1/4 HE TEETHH M16x1,5 HEB BT 1039 1237 R481609735
50 100 G 1/4 RE SEEWH M16x1,5 EB BT 1039 1237 R481609736
50 125 G 1/4 & EEE W M16x1,5 BRI 1039 1237 R481609737
50 160 G 1/4 HE SEETHHL M16x1,5 HEBRT 1039 1237 R481609738

EMERSON.



AVENTICS CCL-IS RFI+rERSHE (ISO 15552) 21
2024-01-18

S RAMEREET  TRETRY PN R EE 3 fH iz 3h
HEED HEED

[N] [N]
50 200 G 1/4 HE L M16x1,5 HEB BT 1039 1237 R481609739
50 250 G 1/4 HEE SEEWH M16x1,5 BB 1039 1237 R481609740
50 320 G 1/4 & TEEW M16x1,5 BRI 1039 1237 R481609741
50 400 G 1/4 HE TEETHH M16x1,5 HEBRT 1039 1237 R481609742
50 500 G 1/4 e SEEWH M16x1,5 BB 1039 1237 R481609743
63 25 G 3/8 & EEE W M16x1,5 BB 1766 1964 R481609744
63 50 G 3/8 & SEETWH M16x1,5 HEBRT 1766 1964 R481609745
63 80 G 3/8 HE TEETHL M16x1,5 BB 1766 1964 R481609746
63 100 G 3/8 & SEEWH M16x1,5 BRI 1766 1964 R481609747
63 125 G 3/8 & TEEWH M16x1,5 HEBRT 1766 1964 R481609748
63 160 G 3/8 HE TEETHH M16x1,5 HEB BT 1766 1964 R481609749
63 200 G 3/8 e SEEWH M16x1,5 BRI 1766 1964 R481609750
63 250 G 3/8 & TEEW M16x1,5 BRI 1766 1964 R481609751
63 320 G 3/8 HE TEETHH M16x1,5 HEBRT 1766 1964 R481609752
63 400 G 3/8 e SEEWH M16x1,5 EBRT 1766 1964 R481609753
63 500 G 3/8 & SEETH M16x1,5 BRI 1766 1964 R481609754
80 25 G 3/8 & SEETWH M20x1,5 HEBRT 2857 3167 R481609755
80 50 G 3/8 HE TEETH M20x1,5 BB 2857 3167 R481609756
80 80 G 3/8 & SEEWH M20x1,5 EBRT 2857 3167 R481609757
80 100 G 3/8 & TEEWH M20x1,5 BRI 2857 3167 R481609758
80 125 G 3/8 HE TEETHH M20x1,5 HEB BT 2857 3167 R481609759
80 160 G 3/8 e SEEWH M20x1,5 EBRT 2857 3167 R481609760
80 200 G 3/8 & SEEWH M20x1,5 BRI 2857 3167 R481609761
80 250 G 3/8 HE TEETHHL M20x1,5 HEBRT 2857 3167 R481609762
80 320 G 3/8 e SEEWH M20x1,5 EBRT 2857 3167 R481609763
80 400 G 3/8 & EEE W M20x1,5 BRI 2857 3167 R481609764
80 500 G 3/8 & SEETWHL M20x1,5 HEBRT 2857 3167 R481609765
100 25 G1/2 HE TEETHL M20x1,5 BB 4639 4948 R481609766
100 50 G1/2 HhE SEEWH M20x1,5 BRI 4639 4948 R481609767
100 80 G1/2 & TEEWH M20x1,5 HEBRT 4639 4948 R481609768
100 100 G1/2 HE TEETHH M20x1,5 HEB BT 4639 4948 R481609769
100 125 G1/2 HEE SEEWH M20x1,5 EBRT 4639 4948 R481609770
100 160 G1/2 & SEEWH M20x1,5 BRI 4639 4948 R481609771
100 200 G1/2 HE TEETHH M20x1,5 HEBRT 4639 4948 R481609772
100 250 G1/2 RE SEEWH M20x1,5 BB 4639 4948 R481609773
100 320 G1/2 & EEE W M20x1,5 BRI 4639 4948 R481609774
100 400 G1/2 & SEETWH M20x1,5 HEBRT 4639 4948 R481609775
100 500 G1/2 HE L M20x1,5 BB 4639 4948 R481609776
125 25 G1/2 HhE SEEWH M27x2 EBE T 7224 7731 R481609777
125 50 G1/2 & TEEWH M27x2 HEBRT 7224 7731 R481609778
125 80 G1/2 HE L M27x2 HEB BT 7224 7731 R481609779

4

od

EMERSON.



AVENTICS CCL-IS RFlItr &R SHET (ISO 15552) 22
2024-01-18

o HEEHE]  TREMRG PN R EE 3 fH iz 3h
HEED HEED

[N] [N]
125 100 G1/2 e SEEWH M27x2 EBE T 7224 7731 R481609780
125 125 G1/2 R EETH M27x2 HBR T 7224 7731 R481609781
125 160 G1/2 HE SEETH M27x2 HER T 7224 7731 R481609782
125 200 G1/2 HE SEETH M27x2 HEB BT 7224 7731 R481609783
125 250 G1/2 HE EETH M27x2 py =L 7224 7731 R481609784
125 320 G1/2 HE SEETH M27x2 HER T 7224 7731 R481609785
125 400 G1/2 HE SEEWHH M27x2 EER T 7224 7731 R481609786
125 500 G1/2 HE SEETH M27x2 EB BT 7224 7731 R481609787
bk
LU=L2+13 mm
B3
[
R
WH + 15 mm
EE-0 B3 @ DU LU L2 SW3 WH
32 6 27.5 29.25 16.25 24 26 +1.4
40 20 34 31.25 18.25 30 30114
50 20 38.5 38 25 36 37 1.4
63 20 38.5 38 25 36 37 1.8
80 21 44 46 33 41 46 +1.8
100 21 44 49 36 41 51+1.8
125 23 57 58 45 50 65+22

EMERSON.



AVENTICS CCL-IS RFlItr &R SHET (ISO 15552) 23
2024-01-18

ISO 15552 , %%l CCL-IS

ISO 15552
RS

Tl FRAE
ERTARBTL
BB R
B

EEWRL

iz

SRS

PR
ERTARBTL
REAR

S RMEEHE]  TEREMTRY N FEIE3 fH iz 3h
HEED HEED

[N] [N]

32 25 G 1/8 HE EE M10x1,25 | ¥R By 435 507 R481609799
AFHER

32 50 G1/8 HE SEEWH M10x1,25 | #riE Tk By 435 507 R481609800
A FH|FR

32 80 G1/8 HE TEEWH M10x1,25 | #FRET LBy 435 507 R481609801
AFH|EFR

32 100 G 1/8 HE TEEWH, M10x1,25 | #RE T fy 435 507 R481609802
AFHER

32 125 G1/8 & SEEWH M10x1,25 | ¥RAET LR 435 507 R481609803
ADFEER

32 160 G1/8 & EEE W M10x1,25 | #RET By 435 507 R481609804
AFHER

32 200 G1/8 HE SEETHHL M10x1,25 | #RtE Tl By 435 507 R481609805
AFHER

32 250 G1/8 e SEEWH M10x1,25 | #FRET By 435 507 R481609806
AFEER

32 320 G1/8 e SEEWH M10x1,25 | #RET By 435 507 R481609807
AFH|EFR

32 400 G1/8 HE TR M10x1,25 | #RET By 435 507 R481609808
AFH|ER

32 500 G1/8 HE TEETHH M10x1,25 | #rAET LBy 435 507 R481609809
AFHER

40 25 G 1/4 HE SEEWH M12x1,25 | #FRET LBy 665 792 R481609810
A FH|FR

40 50 G 1/4 HE TEEWH M12x1,25 | #FRET LBy 665 792 R481609811
AFH|EFR

40 80 G 1/4 HE TEEWH, M12x1,25 | Tk fy 665 792 R481609812
AFHER

40 100 G 1/4 HE SEEWH M12x1,25 | #rAET LBy 665 792 R481609813
ADFEER

40 125 G 1/4 & EEE W M12x1,25 | #FRET By 665 792 R481609814
AFHER

40 160 G 1/4 HE SEETHHL M12x1,25 | #FRET By 665 792 R481609815
AFHER

EMERSON.



AVENTICS CCL-IS RFlItr &R SHET (ISO 15552) 24
2024-01-18

o HEEHE]  TREMRG PN R EE 3 fH iz 3h
HEED HEED

[N] [N]

40 200 G 1/4 HE TEEWH M12x1,25 | #FRET By 665 792 R481609816
AFH|ER

40 250 G 1/4 HE SEEWH M12x1,25 | FRET R 665 792 R481609817
ADEER

40 320 G 1/4 & SEEWH M12x1,25 | #FRET LBy 665 792 R481609818
AFH|ER

40 400 G 1/4 HE TEETHH M12x1,25 | T fy 665 792 R481609819
AFH|ER

40 500 G1/4 HE SEEWH M12x1,25 | #rAETALBy 665 792 R481609820
AFEER

50 25 G 1/4 & EEE W M16x1,5 | FRAETALRS 1039 1237 R481609821
A FH|ER

50 50 G 1/4 HE TEEWH M16x1,5 | #RAETALRS 1039 1237 R481609822
AFH|ER

50 80 G 1/4 HE EE M16x1,5 | FRETALBS 1039 1237 R481609823
AEER

50 100 G 1/4 HE SEEWH M16x1,5 | FRfETALBA 1039 1237 R481609824
AFH|ER

50 125 G 1/4 & TEEWH M16x1,5 | FRAETALRS 1039 1237 R481609825
AFH|ER

50 160 G 1/4 HE TEEWH M16x1,5 | FrRETALBS 1039 1237 R481609826
AFH|ER

50 200 G 1/4 HEE SEEWH M16x1,5| FRAET RS 1039 1237 R481609827
ADEER

50 250 G 1/4 & SEEW M16x1,5 | FRAETALRS 1039 1237 R481609828
AFH|ER

50 320 G 1/4 HE TEETHH M16x1,5 | FrRETALBA 1039 1237 R481609829
AFH|ER

50 400 G 1/4 RE SEEWH M16x1,5| FRAET RS 1039 1237 R481609830
AFEER

50 500 G1/4 & EEE W M16x1,5 | FRAETALRS 1039 1237 R481609831
AFHER

63 25 G 3/8 & TEEWH M16x1,5 | #RAETALRS 1766 1964 R481609832
AFH|ER

63 50 G 3/8 HE TEETH M16x1,5 | FRETALBS 1766 1964 R481609833
AEER

63 80 G 3/8 & SEEWH M16x1,5 | FRET RS 1766 1964 R481609834
A FH|ER

63 100 G 3/8 & TEEWH M16x1,5 | FRAETALRS 1766 1964 R481609835
AFH|ER

63 125 G 3/8 HE TEEWH, M16x1,5 | FrRETALBS 1766 1964 R481609836
AFH|ER

63 160 G 3/8 e SEEWH M16x1,5| FRAET RS 1766 1964 R481609837
ADFEER

63 200 G 3/8 & SEEWH M16x1,5 | FRAETALRS 1766 1964 R481609838
AFH|ER

63 250 G 3/8 HE TEETHH M16x1,5 | FrRETALBA 1766 1964 R481609839
AFH|ER

63 320 G 3/8 e SEEWH M16x1,5| FRAET RS 1766 1964 R481609840
AFEER

EMERSON.



AVENTICS CCL-IS RFlItr &R SHET (ISO 15552) 25
2024-01-18

o HEEHE]  TREMRG PN R EE 3 fH iz 3h
HEED HEED

[N] [N]

63 400 G 3/8 HE TEEWH M16x1,5 | FrRET RS 1766 1964 R481609841
AFH|ER

63 500 G 3/8 & SEEWH M16x1,5| FRAET RS 1766 1964 R481609842
ADEER

80 25 G 3/8 & SEEWH M20x1,5 | #RAETALRS 2857 3167 R481609843
AFH|ER

80 50 G 3/8 HE TEETHH M20x1,5 | FrETALBA 2857 3167 R481609844
AFH|ER

80 80 G 3/8 e SEEWH M20x1,5| #RAET RS 2857 3167 R481609845
AFEER

80 100 G 3/8 & EEE W M20x1,5 | #RAET RS 2857 3167 R481609846
A FH|ER

80 125 G 3/8 HE TEEWH M20x1,5 | #RAETALRS 2857 3167 R481609847
AFH|ER

80 160 G 3/8 HE EE M20x1,5 | FRAETALBS 2857 3167 R481609848
AEER

80 200 G 3/8 & SEEWH M20x1,5 | #RfETALBA 2857 3167 R481609849
AFH|ER

80 250 G 3/8 & TEEWH M20x1,5 | #RAETALRS 2857 3167 R481609850
AFH|ER

80 320 G 3/8 HE TEETHH M20x1,5 | FRET RS 2857 3167 R481609851
AFH|ER

80 400 G 3/8 e SEEWH M20x1,5| #RAET RS 2857 3167 R481609852
ADEER

80 500 G 3/8 & SEEW M20x1,5 | #RAETALRS 2857 3167 R481609853
AFH|ER

100 25 G1/2 HE TEETHH M20x1,5 | FRETALBA 4639 4948 R481609854
AFH|ER

100 50 G1/2 RE SEEWH M20x1,5| #RAET RS 4639 4948 R481609855
AFEER

100 80 G112 & EEE W M20x1,5 | FRAETALRS 4639 4948 R481609856
AFHER

100 100 G1/2 & TEEWH M20x1,5 | #RAETALRS 4639 4948 R481609857
AFH|ER

100 125 G1/2 HE TEETH M20x1,5 | FRETALBS 4639 4948 R481609858
AEER

100 160 G1/2 HE SEEWH M20x1,5 | #RfETALBA 4639 4948 R481609859
A FH|ER

100 200 G1/2 & TEEWH M20x1,5 | #RAETALRS 4639 4948 R481609860
AFH|ER

100 250 G1/2 HE TEEWH, M20x1,5 | FRET RS 4639 4948 R481609861
AFH|ER

100 320 G1/2 HEE SEEWH M20x1,5| #RAET RS 4639 4948 R481609862
ADFEER

100 400 G1/2 & SEEWH M20x1,5 | #RAETALRS 4639 4948 R481609863
AFH|ER

100 500 G1/2 HE TEETHH M20x1,5 | FRETALBA 4639 4948 R481609864
AFH|ER

125 25 G1/2 iz SRETR M27x2 | FRAETALPA 7224 7731 R481609865
A EFR

EMERSON.



AVENTICS CCL-IS RFlItr &R SHET (ISO 15552) 26
2024-01-18

o HEEHE]  TREMRG PN R EE 3 fH iz 3h
HEED HEED

[N] [N]

125 50 G1/2 HE L M27x2 | FRETALBA 7224 7731 R481609866
AFH|ER

125 80 G1/2 HE SEEWH M27x2 | FRETALBS 7224 7731 R481609867
ADEER

125 100 G1/2 & SEEWH M27x2 | FRET LB 7224 7731 R481609868
AFH|ER

125 125 G1/2 HE TEETHH M27x2 | FRETALBA 7224 7731 R481609869
AFH|ER

125 160 G1/2 HE SEEWH M27x2 | FRET B 7224 7731 R481609870
AFEER

125 200 G1/2 & EEE W M27x2 | FRET B 7224 7731 R481609871
A FH|ER

125 250 G1/2 HE TEEWH M27x2 | FRETALBA 7224 7731 R481609872
AFH|ER

125 320 G1/2 HE SEEWH M27x2 | FRETALBS 7224 7731 R481609873
AEER

125 400 G1/2 HE SEEWH M27x2 | FRfETALBA 7224 7731 R481609874
AFH|ER

125 500 G1/2 & TEEWH M27x2 | FRET LBy 7224 7731 R481609875
AFH|ER

EMERSON.



AVENTICS CCL-IS RFIFr &R SHE (1ISO 15552) 27
2024-01-18

M
@232-63
ZJ+S
L8+S
L2
E
BG BG -
A L3, |,
- B1
N//Eh d—‘uiui‘a
™ “7 7777 } :
<
o e N D A s o
° % S RT% Oy °Qu
« - N P
4 ] —_— —@
T 4
VD VA
WH
G G
sw <P EE LA
KW
m
M -
E | 65’/ ,,,,,,,,, f\@
@ LS,
= N o
g —
1y
LA PL I
280 - 125
ZJ+8
L8+S E
L2 VA
A VD

9B
~28
I
|
|
|
|
—
¥
@BA

N
< =c2nes iz
EPr 2N s
WH
BG BG
G G
PL EE LA
KW sw @
o |
& Q

(O

LA PL

5= R
TR (1) EEE TR BT A REA — NI

EMERSON.



AVENTICS CCL-IS RFItr AR SHE (1SO 15552)

28
2024-01-18

EE-0 A @B/ @BA d11 B1 BG mm E EE G H KK KV
32 22 30 3.8 16 49.5 G1/8 27.75 3.1 M10x1,25 16
40 24 35 3.8 16 57.5 G1/4 33.25 3.1 M12x1,25 18
50 32 40 3.8 16 69.5 G1/4 31 3.1 M16x1,5 24
63 32 45 3.8 16 79.5 G3/8 38,25 3.1 M16x1,5 24
80 40 45 3.8 17 98 G3/8 38,25 3.1 M20x1,5 30
100 40 55 3.8 17 115,5 G1/2 42,25 3.1 M20x1,5 30
125 54 60 3.8 20 145 G172 54 3.1 M27x2 4

EE-0 KW L2 L3 & L8 LA LB MM f8 P PL RT
32 5 16 5 94 +0,4 20.75 7 12 4 15.75 M6
40 6 18.25 5 105 0,7 22.75 8 16 5 16.75 M6
50 8 25 5 106 +0,7 20 12 20 7,7 16 M8
63 8 25 5 121 £0,8 27,25 1" 20 1" 19,25 M8
80 10 33 - 128 +0,8 20,25 15 25 12 16,75 M10
100 10 36 - 138 +1 24,25 14 25 17 19,25 M10
125 13,5 45 - 160 +1 25,5 4 32 27,5 20 M12

EE-0 S TG VA VD WH ZJ
32 10 32,5 0,5 4 4 26 +1,4 120
40 13 38 0,5 4 5 30 1,4 135
50 17 46,5 +0,6 4 5 37 £1,4 143
63 17 56,5 +0,7 4 5 37 £1,8 158
80 22 72 0,7 4 5 46 £1,8 174
100 22 89 0,7 4 5 5118 189
125 27 110 1,1 6 6 65 +2,2 225

EMERSON.



AVENTICS CCL-IS RFlItr &R SHET (ISO 15552) 29
2024-01-18

&K AB7-HD, %% CM1

ISO 15552

:314
32 10 ISO 15552 TEN R412027820
40 12 ISO 15552 THEM R412027821
50 12 ISO 15552 TEM R412027822
63 16 ISO 15552 TEMN R412027823
80 16 ISO 15552 TN R412027824
100 20 ISO 15552 TEM R412027825
125 25 ISO 15552 TEMN R412027826

[
-
>

Y

@CK

EE-0 WES BR BT @ CK @ HB EM GL EA PH RA
32 R412027820 10 8 10 6,6 26 21 10 32 18
40 R412027821 1 10 12 6,6 28 24 12 36 22

Q

&

EMERSON.



AVENTICS CCL-IS RFItr AR SHE (1SO 15552)

30
2024-01-18

EE-O E= BR BT @ CK @ HB EM GL EA PH RA
50 R412027822 13 12 12 9 32 33 16 45 30
63 R412027823 15 12 16 9 40 37 16 50 35
80 R412027824 15 14 16 11 50 47 20 63 40
100 R412027825 19 15 20 1" 60 55 20 71 50
125 R412027826 22,5 20 25 14 70 70 30 90 60

EE-O TE UL UR
32 38 51 31
40 41 54 35
50 50 65 45
63 52 67 50
80 66 86 60
100 76 96 70
125 94 124 90

EMERSON.



AVENTICS CCL-IS RFItr AR SHE (1SO 15552)

31
2024-01-18

UL %4 AB3, 31 CM1

T3 B -0

[mm]
20, 25 TEN 3323420000
— —-—
'ﬂ' 3
Ll I
! _
L |
k | J T T I
1
e —
|
I l I
. I
=
|
EE-O L/E=50s (1] C CL FL FO MR aT TB UH
8,10 1827001447 8,1 4 131 24 1,5 5 4,5 12,5 20
8,10 3323410000 8 4 13 24 1,5 5 4.5 12 20
12,16 1827001446 12,1 6 18,1 27 2,0 7 55 15 25
12,16 3323416000 12 6 18 27 2,0 7 5.5 15 25
20, 25 1827001445 16,1 8 241 30 4,0 10 6,6 20 32

EMERSON.



AVENTICS CCL-IS RFItr AR SHE (1SO 15552)

32
2024-01-18

EE-O E= CM @ CK CL FL FO MR aT TB UH
20, 25 3323420000 16 8 24 30 4,0 10 6.6 22 34
32 3323432000 26 10 36 32 6,0 12 6.6 24 36

EMERSON.



AVENTICS CCL-IS RFlItr &R SHET (ISO 15552) 33
2024-01-18

U R &4 AB3, &5 CM1

32 10 TEHW 3323432000
CM MR
= =3
S

Y (

o -
—
p A

\_h!—L!—‘ Y, T T

aT FO

— - =g =8 ~att
CL B
|t~
UH
B
EE-0 nHS CcM @ CK CL FL FO MR T B UH
8,10 1827001447 8,1 4 13,1 24 1,5 5 45 12,5 20
8,10 3323410000 8 4 13 24 1,5 5 45 12 20
12,16 1827001446 12,1 6 18,1 27 2,0 7 55 15 25
12,16 3323416000 12 6 18 27 2,0 7 55 15 25
20, 25 1827001445 16,1 8 24,1 30 4,0 10 6,6 20 32
20,25 3323420000 16 8 24 30 4,0 10 6.6 22 34
32 3323432000 26 10 36 32 6,0 12 6.6 24 36

EMERSON.



AVENTICS CCL-IS RFlItr &R SHET (ISO 15552) 34
2024-01-18

U L%EH MP2, &% CM1

AL
32 10 1ISO 15552 ispy) 3682903590
40 12 1ISO 15552 B4 3682904590
50 12 1ISO 15552 i=py) 3682905590
63 16 1ISO 15552 ispy) 3682906590
80 16 1ISO 15552 B4 3682908590
100 20 1ISO 15552 484 3682910590
125 20 1ISO 15552 i=pv) R412025571
P - - ., ,_@CD
P _
A @ I @ o
/A= I Tl
T ot e = I o
. ! | N
Y N | Z 7 -
UB FL
VB MR
SEL o MES CB H14 @ CD H9 E&X FL L &/ MR UB h14 VB TG
32 3682903590 26 10 47 22 +0,2 12 10 45 50 32,5 0,2
40 3682904590 28 12 54 25 10,2 15 12 52 57 38,0 +0,2
50 3682905590 32 12 65 27 +0,2 15 12 60 65 46,5 £0,2
63 3682906590 40 16 75 32 +0,2 20 15 70 76 56,5 +0,2
80 3682908590 50 16 94 36 0,2 20 17 90 96 72,0 £0,2
100 3682910590 60 20 112 41 10,2 25 21 110 117 89,0 0,2
125 R412025571 70 25 138 50 30 26 130 140 110,0 £0,3

Q

&

EMERSON.



AVENTICS CCL-IS RFlItr &R SHET (ISO 15552) 35
2024-01-18

BER, 2% MP4-HD

ISO 15552

:314
32 10 ISO 15552 |t R412027813
40 12 ISO 15552 a¥ R412027814
50 12 ISO 15552 L= R412027815
63 16 ISO 15552 L= R412027816
80 16 ISO 15552 BM R412027817
100 20 ISO 15552 L= R412027818
125 25 ISO 15552 L= R412027819
MR I EW

CD
[.)—

(¢} o)
RS

OO sl e
! Q Y
1) | Y
L1___
L TG
_FL‘ B E o

RS CD H9 L &/
32 R412027813 10 30 H11 6.6 475 26 -0.2/-0.6 22 55 12 45
40 R412027814 12 35 H11 6.6 53.5 28-0.2/-0.6 25 55 15 45
50 R412027815 12 40 H11 9 64 32-0.2/-0.6 27 6.5 15 45
63 R412027816 16 45 H11 9 74 40-0.2/-0.6 32 6.5 20 45
80 R412027817 16 45 H11 11 94 50-0.2/-0.6 36 10 20 45
100 R412027818 20 55 H11 11 1135 60 -0.2/-0.6 41 10 25 45
125 R412027819 25 60 H11 14 138 70-0.2/-0.6 50 10 30 7
EE-0 MR &KX TG
32 10 32.50.2

EMERSON.



AVENTICS CCL-IS RFItr AR SHE (1SO 15552)

36
2024-01-18

EE-O MR &KX TG
40 12 38 0.2
50 12 46.5 £0.2
63 16 56.5 +0.2
80 16 72 +0.2
100 20 89 0.2
125 26 110 +0.3

EMERSON.



AVENTICS CCL-IS RFlItr &R SHET (ISO 15552) 37
2024-01-18

BEEIR MP6, &5l CM1

79i:3(4
25 10 ISO 21287 B4 3663602000
32 10 ISO 15552 | 48 ( BE4REHEARELALE ) 2798060320
40 12 ISO 15552 | 48 ( BB EHFERELAE ) 2798060400
50 16 ISO 15552 | 4B ( BB EHFIRALLE ) R412025637
63 16 ISO 15552 | 48 ( BE4EHEARELALE ) 2798060630
80 20 ISO 15552 | 48 ( B4REHFERELAE ) R412025638
100 20 ISO 15552 | 48 ( BB EHFERAILLE ) 2798061000
125 30 ISO 15552 | 48 ( EREHFERELALE ) R412025572

2]
= %
] - O
Q <
_ 3
O )
|
T A
N A
fl‘— —ﬁ
& '
TG
E

HERTTE - N RMERBEEERE

RS @GCX H7 @D H11 @D1 H13 DL £0,2

25 3663602000 10 18 5,5 20 40 9 14 8 6

EMERSON.



AVENTICS CCL-IS RFlItr &R SHET (ISO 15552) 38
2024-01-18

@GCX H7 @D H11 @D1 H13 DL £0,2 H

32 3663603000 10 20 5.5 22 46 9 15 8 6
40 3663604000 12 30 6.6 28 55 12 17 9.5 8
52,5 3663605000 12 40 6,6 28 62 12 17 9.5 9
63 5220163442 10 - 7.5 29 45 14 15 10.5 8
75 3663606000 16 55 9 36 80 16 25 12,5 11
80 5220363442 12 - 10 26 65 16 18 12 10
80 3663608000 16 70 9 38 94 16 28 12,5 12
85, 95 5220463442 16 - 10 30 75 21 22 15 10
100 3663610000 20 90 11 43 114 20 35 16 15
115 5220563442 16 - 12 37.5 95 21 25 15 12

3

32 0.5 42 6 15 16 32
40 0.5 48 8 17 16 32
52,5 0,5 55 9 17 18 46
63 - - - - - 33
75 0,5 70 11 25 21 59
80 - - - - - 49
80 0,5 80 12 28 21 73
85, 95 - - - - - 59
100 0,5 100 15 35 28 90
115 - - - - - 75

EMERSON.




AVENTICS CCL-IS RFItr AR SHE (1SO 15552)

39
2024-01-18

212 AA4, R5I CM1

79i:3(4
32 W, EEE EEE 1823120020
40 W, EEE we 1823120021
50 M, PEE 1823120022
63 M, iR B 1823120023
80 W, HEEE EEE 1823120024
100 M, HEeE e 1823120025
125 ISO 15552 M, LR He 5236000092
L, EL _. L6
_ D
— 5
LLl
EE-O MRS gd &K EK e8 EL L&A L6 |\ A
32 1823120020 20 10 45.2 +0,3 35 9
40 1823120021 22 12 52.2+0,3 4 9
50 1823120022 22 12 60.2 +0,3 4 9
63 1823120023 28 16 70.2 +0,3 4.5 11
80 1823120024 28 16 90.2 +0,3 4.5 11
100 1823120025 38 20 110.2 +0,3 5 11

EMERSON.



AVENTICS CCL-IS R B4R #RSH (1ISO 15552)

40
2024-01-18

5236000092
L6 EL L6
L | X
w
1) BIEIRFEDIN 471

EMERSON.



AVENTICS CCL-IS RFItr AR SHE (1SO 15552) 41

2024-01-18
BRI L RS
ISO 15552
PRA
TRB
cCL-Is

FBEER EETEREH RASE
[mm]
32 AHERER RESH A ELE/ENRIL, 4548 Toll 0496400704
32 AHERE REEZHE| HEITL, @I, LT, 0496401107
¥E
32 B ROEZE| $ATWL BRI, LT, 0496401700
H¥E
40 AER AR B | LI, FI¥E, S, RETL, 0496400402
AR Tl
40 f-HE | LTl SI0E, 54N, RET L, 0496401409
AR Tl
40 ABRAR RERE M EA/ENRIL, G54R Tl 0496400801
40 AER AR ROEZE| AT, BRI, LT, 0496401204
HI¥E
40 a-HE ROMZE| $EATW, BRI, LT, 0496401808
HI¥E

EE-O B @D G L L2 SwW

32 6.7 245 M22x1 23 16.25 23

EMERSON.



AVENTICS CCL-IS RFlItr &R SHET (ISO 15552) 42
2024-01-18

40 9.2 34 M26x1,5 28.1 18.25 32

EMERSON.



AVENTICS CCL-IS RFItr AR SHE (1SO 15552) 43

2024-01-18
BRI D R
1ISO 15552
PRA
TRB
CCL-IS

EETEREH E3 RASE

50, 63 AER AR B | LI, FI¥E, &5, RETL, 0496400518
AR Tl

50, 63 f-HE B | LT, HIFE, &, REI, 0496401506
ARAF Tk

50, 63 ABR AR RERE M EA/ENRIAL, G54R Tl 0496400909

50, 63 AER AR ROEZE| ST BRI, LT, 0496402103
HI¥E

50, 63 AR ROUEcHE | SR, BRI, LT, 0496401905
HI¥E

80, 100 AERER | LI, SI0E, B4, RET A, 0496400607
AR Tl

80, 100 -5 B | LI, FI¥E, S, REIL, 0496401603
ARH Tl

80, 100 AERER RERSE M TELE/ENRIL, L5742 Toll 0496401018

80, 100 AFERER RUEZHE| SHATL, BRI, LT, 0496402200
¥E

80, 100 BRI ROEZE| S$ATW, BRI, LT, 0496402006
HI¥E

125 AHERER i | LT, HIEE, W, RFETL, 0496301404
AR Tl

125 |- B | LT, HIEE, BN, RET, 0496303105
ARAF Tk

125 ABR AR RERE A EA/ENRIAL, G54R Tl 0496301307

125 AER AR ROEZE| S$EATW BRI, LT, 0496301706
H¥E

125 AR RUEZE| HLATL, BRI, LI, 0496303202
HI¥E

EMERSON.



44

2024-01-18

AVENTICS CCL-IS RFItr AR SHE (1SO 15552)

A PRt AR MR F AR

1) #4& DIN 1810

&
EMERSON.



AVENTICS CCL-IS RFItr AR SHE (1SO 15552) 45

2024-01-18
BB
CCL-IS
N EEERD YRS
[mm]
32 R412027884
40 R412027885
50, 63 R412027886
80, 100 R412027887
125 R412027888
- L -
B3

I

I

I

wW
]98]

EMERSON.



AVENTICS CCL-IS RFlItr &R SHET (ISO 15552) 46
2024-01-18

EE-0 mes SW3 MA [Nm] GW DU L B3 LU
32 R412027884 24 20 M22x1 275 36 6 29.25
40 R412027885 30 20 M26x1.5 34 411 20 31.25

50, 63 R412027886 36 30 M33x2 38.5 465 20 38

80,100 | R412027887 41 40 M40x2 44 57 21 46

125 R412027888 50 50 M50x2 57 69 23 58

EMERSON.




AVENTICS CCL-IS RFlItr &R SHET (ISO 15552) 47
2024-01-18

FUBAEREYSE PM5 , CM2 %5

B R et s
M10x1,25 i, e R412026142
M12x1,25 M, R412026143
M16x1,5 ™, i R412026144
M20x1,5 W, PR R412026145
M27x2 M, 1826409006
A&
— F —
SW3 SW2 SWi1
2]
o] ) v
Q] ¥
Y |
e e T o
i . L Q
A ]
* L2
- L .

" WEEFE

M4 1826409008 12 13.5 4 13 33 8 12 3.2 7
M5 R412007860 8.5 14.8 6 12 38.5 13.5 7 5 8
M6x1 R412026140 8.5 14.5 6 1" 36.5 1" 7 5 10
M8x1.25 R412026141 12.5 19 8 21 58 21 1" 7 13
M10x1.25 R412026142 22 32 14 23 745 23 19 12 17
M12x1.25 R412026143 22 32 14 24 75 24 19 12 19
M16x1.5 R412026144 32 45 22 30 103 30 30 20 24
M20x1.5 R412026145 32 45 22 40 119 40 30 20 30
M27x2 1826409006 62 62 28 48 147 54 32 24 41
M36x2 1826409007 80 80 38 86 241 72 50 36 55
Q

EMERSON.



AVENTICS CCL-IS RFlItr &R SHET (ISO 15552) 48
2024-01-18

M42x2 R412007729 64 98 42 96 271 82 60 36 65
KK SW4 al?] ) 2)
M4 12 8 0.05-0.2 0-0,5
M5 13 8 0.05-0.2 0-0,5
M6x1 13 6 0.05-0.5 0-1,5
M8x1.25 17 8 0.05-0.5 0-1,5
M10x1.25 30 8 0.05-0.5 0-2
M12x1.25 30 7 0.05-0.5 0-2
M16x1.5 41 6 0.05-0.5 0-2
M20x1.5 41 6 0.05-05 0-2
M27x2 55 8 0.05-0.2 0-2
M36x2 75 8 0.05-0.2 0-2
M42x2 85 8 0.05-0.2 0-2
1) HhmEE B
2) E @ E R

EMERSON.



AVENTICS CCL-IS RFlItr &R SHET (ISO 15552) 49
2024-01-18

FUBAEREYE PMT7 , CM2 %5

B R et s
M10x1,25 i, e 1827001629
M12x1,25 ™, 1827001630
M16x1,5 W, EER 1827001631
M20x1,5 W, PR 1827001632
M27x2 M, 1827001633
I
|l f—
| -
— - —~—
L I l
/
© © \ / O Y O <>
@ | @ =
Y | =
T ' T 4
1
—~aill—
el —
KK LEE= al a2 d1 h11 d6 H13 d7 H13 el H13 e2 h1 t2
M10x1.25 1827001629 60 37 20 6.6 1 36 £0,15 23 £0,15 15 7
M12x1.25 1827001630 60 56 25 9 15 42 10,2 38 +0,2 20 9

EMERSON.




AVENTICS CCL-IS RFItr AR SHE (1SO 15552)

50
2024-01-18

KK wEe at a2 d1 h11 d6 H13 d7 H13 1 H13 e2 h1 t2
M16x1.5 | 1827001631 80 80 30 1 18 58 0,2 58 0,2 20 1
M20x1.5 | 1827001632 90 90 40 14 20 65 £0,3 65 £0,3 20 13

M27x2 | 1827001633 90 90 40 14 20 65 +0,3 65 +0,3 20 13
M36x2 | 1827001634 125 125 60 18 2 90 0,3 90 0,3 30 17
EFHENITE o 8] PR & (5] A1 p&
HEBK+5% ‘BNMNEKX 50N}
M10x1.25 24 17 17Nm | 04-08mm | 1,9-2,3 mm
M12x1.25 30 19 29Nm | 04-08mm | 1,9-2,3 mm
M16x1.5 32 24 7AINm | 04-08mm | 1,9-2,3 mm
M20x1.5 35 36 138Nm | 04-08mm | 1,9-23 mm
M27x2 35 36 350 Nm 0.4- 1,9-2,3 mm
2031 mm | V92
0,4-
M36x2 55 50 1080 Nm 2.8-34mm
0,95 mm

EMERSON.



AVENTICS CCL-IS RFlItr &R SHET (ISO 15552) 51
2024-01-18

SEEFUERL AP2, &5 CM2

RT3 E eSS
CCL-IS, CCL-IC, CCI, CSL-RD, SSI, ICM, ICS-D2, 167 TEN 3590502000
CCL-IS, CCL-IC, CClI, SSI, 167, ICS-D2 TEN 3590504000
CCL-IS, ICS-D2, 167 TEM 3590505000
CCL-IS, ICS-D2, 167 TEM 3590508000

Y
A

|
A /7 : N v
—J =4 [ L _rtEe-"1
o Oy EIE o
X \
Y l——JLE §
ER a CE el

A
S (@ 7
Y ;
|
KK WS CE CKe8 CL CM B12 ER BL LE
M4 3330510000 16 4 10 5 6 15 8
M6 3330516000 24 6 12 6 7 17 12
M8 3330520000 32 8 16 8 10 22 16
M10x1,25 3590502000 40 10 20 10 12 26 20
M12x1,25 3590504000 48 12 24 12 14 31 24
M16x1,5 3590505000 64 16 32 16 19 39 32

EMERSON.



AVENTICS CCL-IS RFlItr &R SHET (ISO 15552) 52
2024-01-18

KK E= CE CKe8 CL CM B12 ER BL LE
M20x1,5 3590508000 80 20 40 20 20 49 40

EMERSON.



AVENTICS CCL-IS RFlItr &R SHET (ISO 15552) 53
2024-01-18

SEEFUERL AP2, &5 CM2

RT3

PRA, TRB, CCL-IS, 167, CVI W, e 1827001493

— el
1
/: i [~  —
-
=Y =T N S N —
| 4 fl 7 71 —
1
N/ I
LE N
S
— C —
I
|
|
o
I
|
I
I
|
KK L/E=50s BL CE DCK e11 CL CM D1 ER LE
M4 1822122028 11 16 4 8 4 8 5 8
M6 1822122009 16 24 6 12 6 10 7 12
M8 1822122010 215 32 8 16 8 14 10 16
M10x1,25 1822122024 26 40 10 20 10 18 12 20
M12x1,25 1822122025 31 48 12 24 12 20 14 24
M16x1,5 1822122005 39 64 16 32 16 26 19 32
M20x1,5 1822122004 50 80 20 40 20 34 20 40

EMERSON.



54

AVENTICS CCL-IS R5Itr/ERSIET (1ISO 15552)
2024-01-18

KK nHS BL CE @CK et cL cM 2D1 ER LE

M10 8958000122 26 40 10 20 10 18 12 20

M12 8958000132 31 48 12 24 12 20 14 24
M4sx2 | 8958019332 122 192 50 9 50 82 73 96

M5 1822122008 135 20 5 10 5 9 6 10

\

EMERSON.



AVENTICS CCL-IS RFlItr &R SHET (ISO 15552) 55
2024-01-18

El#LAP6 , CM2 R 5

AT R5 T3 B -0
[mm]

CCL-IS, CCL-IC, SSI, CSL-RD, ICM, 10 TEN 8958209032

ICS-D2
CCL-IS, CCL-IC, SSI, ICS-D2 12 TEN 8958209042
CCL-IS, CCL-IC, SSI, ICS-D2 16 TEMN 8958209052
CCL-IS, SSI, ICS-D2 20 TEMN 8958209062
CCL-IS 30 TEN 8958209072

CE

4 Yol \\
— -, J \ pE=EfsE v
e et S o
AN 7
LF

AV

@ CN H7 EN-0,1

M4 8958209002 1" 8 27 5 8 9 6 9 9

EMERSON.



AVENTICS CCL-IS RFItr AR SHE (1SO 15552) 56

2024-01-18
KK E= AA AV min. CE @ CN H7 EN-0,1 ER EU max. LF SW
M6 8958209012 13 9 30 6 9 10 6,75 10 11
M8 8958209022 16 12 36 8 12 12 9 12 14
M10x1,25 | 8958209032 19 15 43 10 14 14 10.5 14 17
M12x1,25 8958209042 22 18 50 12 16 16 12 16 19
M16x1,5 8958209052 27 24 64 16 21 21 15 21 22
M20x1,5 8958209062 34 30 77 20 25 25 18 25 30
M27x2 8958209072 50 45 110 30 37 35 25 35 41
KK Z [°] max.
M4 6,5
M6 6,5
M8 6,5
M10x1,25 6,5
M12x1,25 6,5
M16x1,5 7,5
M20x1,5 7,5
M27x2 75

EMERSON.




AVENTICS CCL-IS RFlItr &R SHET (ISO 15552) 57
2024-01-18

SEEMTHY 828 MR9

YR H RS
M10x1,25 THMN 8103190464
M12x1,25 THN 3590304000
M16x1,5 THN 3590305000
M20x1,5 THN 3590308000
M27x2 TEMR , ERE 2990600312

/\ —

< KV - T KW
KK nHS KV Kw
M4 1823300033 10 3.2
M6 1823300034 13 4
M8 1823A00021 19 6
M10 8103190344 19 6
M10x1,25 | 1823300030 24 8
M20x1,5 | 1823300031 30 10
M27x2 1823A00029 41 13.5
M36x2 8103190414 50 16
M42x2 8103190424 60 21
M6 8103190644 10 3.2
M8 8103190164 13 4

EMERSON.



AVENTICS CCL-IS RFIFr &R SHE (1ISO 15552)

58
2024-01-18

KK E= KV KW
M10x1,25 8103190464 17 5
M4 3330310000 7 22
M12x1,25 3590304000 19 6
M16x1,5 3590305000 24 8
M20x1,5 3590308000 30 10
M20x1,5 8103040344 30 10
M24x2 8103190394 36 12
M48x2 8103190434 65 25
M10x1,25 2990600303 17 5
M12x1,25 2990600304 19 6
M16x1,5 2990600305 24 8
M20x1,5 2990600308 30 10
M27x2 2990600312 41 13.5
M36x2 2990600316 50 16
M42x2 2990600325 60 21

4

od

EMERSON.



AVENTICS CCL-IS RFItr AR SHE (1SO 15552) 59

2024-01-18
I IRET
G e mE
[4]
M6 4 R402003749
M8 4 R402003750
A

| - ]
a
k L S
R #&mm
LS a d = k L S r
R412024762 2 M4 9.8 3.9 10 9.8 0.5
R412024763 3 M5 11 4 12 12 0.5
R402003749 3 M6 14 53 16 13 0.7
R402003750 3 M8 18 6.4 17 16 0.7

EMERSON.



AVENTICS CCL-IS RFItr AR SHE (1SO 15552)

60
2024-01-18
ZEIRET
G HEHE MR=
[14]
M10 4 R402003751
M12 4 R402003752
bk S
8 ‘
- 45° _
]_/ ‘ ) -‘T -
_K;;<_ [ L NSV W
= N
. 30° ‘
k L S
RO,5
0,5
R #&mm
LS a d E k L S r

R402003751 4 M10 24 7,9 8.8 15 21
R402003752 4 M12 30 9,5 1.5 18 27

EMERSON.



AVENTICS CCL-IS RFItr AR SHE (1SO 15552)

61
2024-01-18

e Ri38, R% ST6

PRA

PRE

CcCl

KPZ

SSi

GPC

CVI
LT B ED
CEIAIE

cULus

RoHS

UL (Underwriters Laboratories)

[0- BK L o
EERE R 22PN B4 HEE BEE BIIE BRAIE BIDIHE IS
ATRY ARE KEL #ROFx HF*X H®HEDC H®HEDC HBHEAC EAC,
[m] BH) , ) | [V DC] [V DC] [V AC] RAE
B, XHHE, [V AC]
BAE. HRAE
[Al (Al
PRA, EHAE REls 3 0.13 0.13 10 230 10 230 | RS R412022866
PRE, #
CCl,
KPZ, SSI,
GPC, CVI
PRA, B REMHE 5 0.13 0.13 10 230 10 230 | RmMR R412027170
PRE, #
CCl,
KPZ, SSI,
GPC, CVI
PRA, EHR REE 3 0.3 0.5 10 30 10 30| RIRMEFR R412022869
PRE, #
ccl,
KPZ, SSI,
GPC, CVI
PRA, EHA REf 5 0.3 0.5 10 30 10 30| RRMR R412022870
PRE, #
ccl,
KPZ, SSI,
GPC, CVI
PRA, EHE REMHE 10 0.3 0.5 10 30 10 30| RWMMR R412022871
PRE, #
CCl,
KPZ, SSI,
GPC, CVI
PRA, | £F PNP RafE 3 0.13 10 30 AT, R412022853
PRE, RARMAR
CCl, #
KPZ, SSI,
GPC, CcVI
PRA, | EF PNP REf 5 0.13 10 30 BRI, R412022855
PRE, RARMEAR
ccl, i
KPZ, SSI,
GPC, CVI
PRA, | EF PNP Rafk 10 0.13 10 30 HERRP, R412022857
PRE, RARMHEAR
CCl, #

EMERSON.



AVENTICS CCL-IS RFlItr &R SHET (ISO 15552) 62
2024-01-18

EERR R 2R AN Ea 4 @ EE HNIHE BRKIE HPMIHE IR &
ATRY ARE KEL #RF* HKEF*x =HEDC HBEDC H®HEAC EAC,
[m] £5%), | £%), [VDC] [VDC] [VAC] &kf&E

ERE, XML, [V AC]
RAE. &AE
(Al (Al

KPZ, SSI,
GPC, CVI

PRA, NPN REE 3 0.13 10 30 BERRP, R412022849
PRE, RARMER
CCl, b
KPZ, SSI,
GPC, CVI

PRA, NPN REf 5 0.13 10 30 BRI, R412022850
PRE, RARMEAR
ccl, i
KPZ, SSI,
GPC, CVI

M

1 T —— BN

BK
X ;3x0,14 mm?2

30

1* =FF KR 2* = EER4 3* = LED B HEH
L=eB%KEBN={f® BK=26 BU=KE®
X=8BFRK:11.6 mm

R412022866, R412027170
A&

57 32,5 L

4,8
1* 2% 27
BN
21 | — Y ;qu_ _______ <
| BU
1.2 2x 0,14 mm2

30

1= FF R 2" = B ER4E 3* = LED & AIEH

EMERSON.



AVENTICS CCL-IS R B4R #RSH (1ISO 15552) 63
2024-01-18

L = B4 KE BN=178, BU=EE &

EMERSON.



AVENTICS CCL-IS RFlItr &R SHET (ISO 15552) 64
2024-01-18

e Ri38, R% ST6

PRA
PRE
CClI

KPZ

SSlI

GPC

Cvi

SIS /

M8

CEIAIE

cULus

RoHS

UL (Underwriters Laboratories)

EERE  EE BAARE B4 #}mEeE  wEE  RNIHE KAKIE KRIDMIHE IR &

ATRH AHRE KEL #FFx FHFx H®HEDC H®HEDC HBEAC EAC,
[m] B , B , [V DC] [V DC] [V AC] RAE
ERE, RH, [V AC]
BAE  HAE
[A] [A]
PRA, £/ REM 0.3 0.13 0.13 10 30 10 30| RWMMR R412022868
PRE, #
ccl,
KPZ, SSI,
GPC, CVI
PRA, EHR REE 0.3 0.13 0.13 10 30 10 30| RIRMEFR R412027172
PRE, b
ccl,
KPZ, SSI,
GPC, CVI
PRA, EHA REF 0.3 0.3 0.5 10 30 10 30| RMMR R412022872
PRE, b
ccl,
KPZ, SSI,
GPC, CVI
PRA, | £F PNP Rafk 0.3 0.13 10 30 ERRP, R412022858
PRE, RIWMER
ccl, #
KPZ, SSI,
GPC, CVI
PRA, NPN RafE 0.3 0.13 10 30 BERRP, R412022851
PRE, R
ccl, Ei
KPZ, SSI,
GPC, CVI

EMERSON.



AVENTICS CCL-IS R B4R #RSH (1ISO 15552) 65

2024-01-18
A%
29,5 L
5,7
48 2,7 29 -37
’ /» 1* o*
.—————'——-—'__——__—>. —
T \ LD
2 [0 e e T &
< | =
1* = FF KRR 2* = EE1g4 3* = LED B HiEH
L=B%KE
X=8FX :116mm, F% :83mm
¢
S

EMERSON.



AVENTICS CCL-IS RFlItr &R SHET (ISO 15552) 66
2024-01-18

e Ri38, R% ST6

PRA
PRE

CcCl

KPZ

SSi

GPC
CVI

EZe PR
M12
CEIAIE
cULus
RoHS
UL (Underwriters Laboratories)

EERE i RN HrE BREE BNIE BAIE BINIHE IS
ATRH AHRE KFFx  RF*  HEDC ®BEDC HEAC FEAC,
B , B , [V DC] [V DC] [V AC] RAE
ERE, RH, [V AC]
BAE  HAE
[A] [A]
PRA, £/ REM 0.3 0.13 0.13 10 30 10 30| RWMMR R412027171
PRE, #
ccl,
KPZ, SSI,
GPC, CVI
PRA, EHR REE 0.3 0.3 05 10 30 10 30| RIRMEFR R412022876
PRE, b
ccl,
KPZ, SSI,
GPC, CVI
PRA, | EF PNP REF 0.1 0.13 10 30 ERARP, R412022879
PRE, RARMEAR
ccl, b
KPZ, SSI,
GPC, CVI
PRA, | £F PNP Rafk 0.3 0.13 10 30 ERRP, R412022863
PRE, RIWMER
ccl, #
KPZ, SSI,
GPC, CVI
PRA, | £F PNP RafE 3 0.13 10 30 BERRP, R412022877
PRE, R
ccl, Ei
KPZ, SSI,
GPC, CVI
PRA, | EF PNP REf 5 0.13 10 30 BRI, R412022878
PRE, RARMEAR
ccl, i
KPZ, SSI,
GPC, CVI

EMERSON.



AVENTICS CCL-IS R B4R #RSH (1ISO 15552) 67

2024-01-18
A
29,5 L
5.7 2,7 40 - 50
4.8
F 1% 2F
1 Y *
2 — == e 8
X
1* = FX R 2* = EEIR 3* = LED B HEH
L=s8%KE
X =PNP: 11,6 mm, %4:8,3mm
4
4

EMERSON.



AVENTICS CCL-IS RFlItr &R SHET (ISO 15552) 68
2024-01-18

e Ri38, R% ST6

PRA
PRE

CcCl

KPZ

SSi

GPC
CVI

EZe PR
M12
ATEX
CEIAIE
cULus
RoHS
UL (Underwriters Laboratories)

g (LI M

Ru

ﬂ- 4 BK
PNP |3 _;: :Ui—‘_ _

EERR EEAAE BAINR BARKEL  BRE®SRJTE RDMITHE

BATR5 [m] RER) , B B DC
e, BAME. [V DC]
[Al
PRA, PRE, PNP RAEf 0.3 0.1 10 30| ERRP X R412022864
CCl, KPZ, AR
SSI, GPC,
cvi
A&
29,5 L
5,7 2,7 40 - 50
48
/7 1* 2*
f ) %
@ 5 ——— == e e | - | g

1*=FFRR 2* = EE1g 3* = LED BHEH
L=sBHKE
X =PNP: 11,6 mm, %K:8,3mm

EMERSON.



1S KB ARS 15552 69
AVENTICS CCL-IS RFItr ARSI (1SO ) 2024-01-18

R412022864
ZHNRE

EMERSON.



AVENTICS CCL-IS RFlItr &R SHET (ISO 15552) 70
2024-01-18

e Ri38, R% ST6

PRA
PRE

CcCl

KPZ

SSi

GPC
CVI

EZe PR
CEIAIE
cULus
RoHS
UL (Underwriters Laboratories)

BEERE W EE BN B4 mEE  wEE  &MIHE RRKIFE HNMIHE  IFER

AFRI AHRE KEL #FFx HFF*x H®HEDC =®HEDC HBEAC KEAC,
[m] B , ) [V DC] [V DC] [V AC] RAE
EfRE, RHE, [V AC]
BAE. HAE.
[A] [A]
PRA, EHE REE 0.3 0.3 05 10 30 10 30| RIRMEFR R412022873
PRE, #
ccl,
KPZ, SSI,
GPC, CVI
PRA, ERE| REZHE 0.3 0.3 0.5 10 30 10 30| RRMR R412022875
PRE, i
ccl,
KPZ, SSI,
GPC, CVI
PRA, £ REfk 0.5 0.3 0.5 10 30 10 30| RmMR R412022874
PRE, #
ccl,
KPZ, SSI,
GPC, CVI
PRA, | £F PNP RafE 0.3 0.13 10 30 ERRP, R412022859
PRE, R
ccl, Ei
KPZ, SSI,
GPC, CVI
PRA,| B PNP| REZH 0.3 0.13 10 30 BRI, R412022862
PRE, RARMEAR
ccl, i
KPZ, SSI,
GPC, CVI
PRA, | EF PNP R 0.5 0.13 10 30 ERRP, R412022861
PRE, RIRHER
ccl, b
KPZ, SSI,
GPC, CVI
PRA, NPN REHR 0.3 0.13 10 30 ERRP, R412022852
PRE, R
ccl, #
KPZ, SSI,
GPC, CVI

EMERSON.



AVENTICS CCL-IS R B4R #RSH (1ISO 15552) 71
2024-01-18

POk

5,7

2,7 36-415
4,8

\
1
M8x1

1* = FFR R 2% = B £ 3* = LED B OiEH
L=B%KE
X=8BFX :11,6mm, F% :83mm

R412022873, R412022875, R412022874, R412022859, R412022862, R412022861, R412022852
a5 B M8x1 (=M HEK)
1 4 3

EMERSON.



AVENTICS CCL-IS RFlItr &R SHET (ISO 15552) 72
2024-01-18

e Ri38, R% ST6

PRA
PRE

CcCl

KPZ

SSi

GPC
CVI

EZe PR
M8
ATEX
CEIAIE
cULus
RoHS
UL (Underwriters Laboratories)

g (LI M

Ru

ﬂ- 4 BK
PNP |3 _;: :Ui—‘_ _

EERR EEAAE BAINR BARKEL  BRE®SRJTE

ATR5 [m] XEBER) , B
e, RAE.
[A]
PRA, PRE, PNP REfE 0.3 0.1 10 30| ERFP R R412022860
CCl, KPZ, MRS
SSI, GPC,
cvi
Gk
29,5 L
2L 2,7 36-41,5
48 ‘ —
/7 1* 2*
© U = . | iy ,ﬂ,é
- SR

21,75 ,
0,82

32,9

9
3* ‘5“@‘

1* = FF KRR 2* = EE14 3* = LED B HiEH
L=B%KE
X=8BFK:116mm, ¥ :83mm

EMERSON.



AVENTICS CCL-IS R B4R #RSH (1ISO 15552) 73

2024-01-18
R412022860
EWSE Mex1 (SHEL)
1 4 3
s

EMERSON.



AVENTICS CCL-IS RFItr AR SHE (1SO 15552)

74

2024-01-18

e Ri38, R% ST6

PRA

PRE

CcCl

KPZ

SSi

GPC

CVI

TR B LR
ATEX

CEIAIE

cULus

RoHS

UL (Underwriters Laboratories)

1 BN

T HoaBN
T B R
PNP s_jBU ] _

EERR
ATR3

EEAAE

B4R

BAKE L

[m]

6 0 B85 (FF
KER) , B

JRE , BAME.
[Al

BT
B E DC
[V DC]

\

PRA, PRE, PNP REk 0.1 10 30| EBRGRP R R412022854
CCl, KPZ, AR
SSl, GPC,
cvi
PRA, PRE, PNP R 0.1 10 30| EBRRP R R412022856
CCl, KPZ, MR
SSl, GPC,
cvi
A
BT 29,5
48 2.7
F 1* 2*
7 1 BN
2 e — =] - BU
BK
X 23 x 0,14 mm2
21,75

1*=FFXRR 2" = EERKE 3* = LED BOEHA
L=8BRKEBN=1® BK=8E BU=E&

X=8FX :11.6 mm

EMERSON.



AVENTICS CCL-IS RFlItr &R SHET (ISO 15552) 75
2024-01-18

feRi38, AR5 ST6-HT

PRA
PRE
CClI

KPZ

TR B LR

[

RoHS

UL (Underwriters Laboratories)

BEERE W EE BN B4 mEE  wEE  &MIHE RRKIFE HNMIHE  IFER &

AFRI AHRE KEL #FFx HFF*x H®HEDC =®HEDC HBEAC KEAC,
[m] B , B , [V DC] [V DC] [V AC] RAE
EfRE, RHE, [V AC]
BAE. HAE.
[A] [A]
PRA, ERR REE 3 0.13 0.13 0 30 0 30| RIRMEFR R412022865
PRE, b
CCl, KPZ
PRA, EHA R 10 0.13 0.13 0 30 0 30| RRMR R412022867
PRE, i
CCl, KPZ
FEE S
_5_,1 - 29,5 o i L g
4.8 2.7
1* 2*
: ] BN
3 g = = — =K
BU
8,3 3x0,14 mm?

1*=JFRA 2" = EERE
L = B4KE BN=15, BU=E&

EMERSON.



AVENTICS CCL-IS RFItr AR SHE (1SO 15552)

76
2024-01-18

RRABRBEERE, 5 CB1

ST6

A R402000040

A

Y

(4,7)

32) |
I
|
|
—1
|
|
I
\__/

A

Y

EMERSON.



AVENTICS CCL-IS RFlItr &R SHET (ISO 15552) 44
2024-01-18

[ 2 4d 3k, &% CON-RD

ELTEGPS
M8x1
3-8

FF

FEBRE  ®BIEHKE , ERE AR RIER
SR  MEBEHHN ERE
BNEE RAER [°C]
[mm] [mm]
48V AC/ 3-8 A-4RTE KRER 2% 4 35 5 -25 80 1834484173
DC

38,4
32,4

1834484173
R A

EMERSON.



AVENTICS CCL-IS RFlItr &R SHET (ISO 15552) 78
2024-01-18

[ 2 4d 3k, &% CON-RD

ELTEGPS
M8x1
3-8

FF

FEBRE  ®BIEHKE oy TR B, ERE AR RIER
BAE  HEHHN  HNEEH BEE
[A] BNEE RAER [°C]
[mm] [mm]
48V AC/ 3-8 AR5 KRER jk: 4 35 5 -40 85 1834484174
DC
R~ #mm
ca. 28,0

|
M8x1
29,7
211,6

Lo}
N
! |
|
max.2 5,0
1834484174
1R 5 R AR
1
3 4

EMERSON.



AVENTICS CCL-IS RFlItr &R SHET (ISO 15552) 79
2024-01-18

B fz4d@k, &5 CON-RD

ELTEGPS
M8x1
3-8

MERE HBHR R BREER BSE BREERE BREER B4KE ®H4 2 SK&EEHE REF  &5H

[A] 1,68 51,18 1, mB 2 KB [m] BEZ-0 [mm? REE BRE
QR [mm] rcl rcl
48V AC/ 4| KREE|BEEL|  Mex1| ARE | FHRE 3 45 0.24 -25 85 1834484166
DC &
48V AC/ 4| KREWE| BEEL|  M8x1| AR | FHR® 5 45 0.24 -25 85 1834484168
DC ki
48V AC/ 4| KRB | BEEL|  M8x1| AR | FHR® 10 45 0.24 -25 85 1834484247
DC BRI
A
L
~40
LD“ 3+2
<
A &r
(< I
= X
2 gl Ll MM
S & =39
|
32
3x0,25mm?
L=kKE

1834484166, 1834484168, 1834484247
WA E R

3 4

(1)BN=#%f2 3 ) BU=E® (4)BK=E#&

EMERSON.



AVENTICS CCL-IS RFlItr &R SHET (ISO 15552) 80
2024-01-18

B fz4d@k, &5 CON-RD

ELIETES

FEBRE HBHRA Bk BAERE BRE BSEE BRERE B4KE B4 2 S4%EE REFR  H5H
[A] 1, K8 81,88 1, R/E 2 XkH [m] BER-QZ [mm3 EEE HEERE
QR [mm] [°C] [°C]
48V AC/ 4| KRR | ZHEX M8x1 | A-4R%3 | FFA=X 3 45 0.24 -40 85 1834484167
DC S
48V AC/ 4| KRE| BHEKX M8x1| A4 | FHRKE 5 45 0.24 -40 85 1834484169
DC HRE
48V AC/ 4| KRRE| BHEKL M8x1| A-4miG | FRKE 10 45 0.24 -40 85 1834484248
DC Hkin
Gk
@10
M8x1
i
W o 3x0,25mm2
<t
N Q \
o i
T w
L ___T____E_B_E____Jg_(gr_______
Y [
16 32 | |
=200 ~40

EMERSON.



AVENTICS CCL-IS R B4R #RSH (1ISO 15552) 81
2024-01-18

1834484167, 1834484169, 1834484248
R E R

3 4

(1)BN=f:f2 3) BU=EEf (4)BK=2

EMERSON.



AVENTICS CCL-IS RFlItr &R SHET (ISO 15552) 82
2024-01-18

JHEER , % SI

SR
TN

—1 1 | N
HERE
[I/min]
M5 68 10 0.006 R412010686
G 1/8 73 1218 10 0.01 R412010687
M
- ! #—
i
ﬂ\ K% (@]
H w| v
]
I
V4 AN
| o
! N /
- o
G
e #OG (%] B D E H SW
R412010686 M5 2.5 6.5 4 3 8 8
R412010687 G1/8 6 11 6 4 15 13
R412007817 G1/4 8.5 12 8 5 18 16

EMERSON.



AVENTICS CCL-IS RFlItr &R SHET (ISO 15552) 83
2024-01-18

JHEER , % SI

SR
TN

HERE HEHE
[l/min] [#]
M5 85 73 1 0.003 R412010090
G1/8 90 1312 1 0.011 R412010081
HA
A i
o 8 b — =
Y \
] L1 _
RS ¥OG SwW @D L1 L2
R412010090 M5 8 3.1 10.5 35
R412010081 G1/8 13 6.6 20 6
R412010082 G1/4 16 8.6 29.5 75
R412010083 G3/8 19 12.1 335 75
R412010084 G112 24 15.3 39.5 9.5
R412010085 G 3/4 30 19.3 45 10
R412010086 G1 36 255 495 115
4

EMERSON.



nh elisen: T 12

Efficient pneumatic solutions, our program:
cylinders and drives, valves and valve systems,
air supply management

Visit us: Emerson.com/Aventics
Your local contact: Emerson.com/contactus

Q, Emerson.com
ﬁ Facebook.com/EmersonAutomationSolutions
LinkedIn.com/company/Emerson-Automation-Solutions

pu—

"/ Twitter.com/EMR_Automation

An example configuration is depicted on the title page. The delivered product may thus vary from that in the illustration. Subject to change. This
Document, as well as the data, specifications and other information set forth in it, are the exclusive property of AVENTICS GmbH. It may not be
reproduced or given to third parties without its consent. Only use the AVENTICS products shown in industrial applications. Read the product
documentation completely and carefully before using the product. Observe the applicable regulations and laws of the respective country. When
integrating the product into applications, note the system manufacturer’s specifications for safe use of the product. The data specified only serve
todescribe the product. No statements concerning a certain condition or suitability for a certain application can be derived from our information
The information given does not release the user from the obligation of own judgment and verification. It must be remembered that the products
are subject to a natural process of wear and aging.

The Emerson logo is a trademark and service mark of Emerson Electric Co. Brand logotype are registered trademarks of one of the Emerson
family of companies. All other marks are the property of their respective owners. © 2019 Emerson Electric Co. All rights reserved.

EMERSON

CONSIDER IT SOLVED




